
TDC-GP2. 
 
 
2. ��������������. 
 
2.1. 	
����������� ��������������. 
 

����
��� ���������� ���������. 
 
��������	� �	
��	� �
���	
�
��� GND: Vcc  �
 - 0,3 �� 4 � 

Vio  �
 - 0,3 �� 7 � 
����������� 
�� ������   Iout  ±30 �� 
�������
��� ������	�   Tstg  �
 - 65 �� 150 °C 
�������
��� ��������   Tj  125 °C 
 
������������� ������� ���������. 
 

 ������
� ��
��	� �	� �	� ���� 
��. 
	��. 

Vcc ��������	� �	
��	� ���� Vio > Vcc 1,8  3,6 � 
Vio ��������	� �	
��	� ������-�������  1,8  5,5 � 
tri ����� �����
��	� �	���
� �� �����    50 �� 

tfa 
����� ����� �	���
� �� ����� � 

�	������  �	

� 

   50 �� 

tri 
����� �����
��	� �	���
� �� ����� � 

�	������  �	

� 

   5 �� 

tfa 
����� ����� �	���
� �� ����� � 

�	������  �	

� 

   5 �� 

Ta �������
��� ������!"�� ����� 
�������
��� �������� 
Tj �� ��
��� �����#�
� 
125°C 

-40  120 °C 

 
�������������� �� ����������� ���� (Vio = Vcc = 3,3 V ± 0,3 �, Tj = -40 +85°C). 
 

 ������
� ��
��	� �	� �	� ��� 
��. 
	��. 

I32 
��� ��
��$
��	� 32 
%&' 

Icc + Iio, ��$�
��
 
�
��� ������
�� 32 
%&', Vcc = 3,6 � 

 4,5  ��� 

Ihs ��� ��
��$
��	� 4 �&' 
Icc + Iio, ��$�
��
 
�
��� ������
�� 
ClkHS �� 4 �&', Vcc = 3,6 � 

 260  ��� 

Itmu 
��� ��
��$
��	� 
����
� 	������	� 
������	 

��
��� ��	 	������		 ������	  15  �� 

Iddq 
��� ����� � 
���
!(�����	 
������
����	 

Vio = Vcc = 3,6 �; @ 85 °C  < 150  �� 

Il ��� �
�(�	 ������  - 1  + 1 ��� 

Voh 
�������� ��������	� 
�������� ������ 

Ioh = ? mA, Vio = �	�.  Vio - 0,4   � 

Vol 
�������� ��������	� 
�	����� ������ 

Iol = ? mA, Vio = �	�.   0,4 � 

Vih 
������� ��������	� 
�������� ������ 

������� LVTTL, Vio = ����. 2,0   � 

Vil 
������� ��������	� 
�	����� ������ 

������� LVTTL, Vio = �	�.   0,8 � 

Vth 
�����	� ����� 

�	�����  �	

� 

 1,1  2,4 � 

Vtl 
�	��	� ����� 

�	�����  �	

� 

 0,6  1,8 � 

Vh 
&	�
����	� 
�	����� 
 �	

� 

 0,1    

 



������� �������. 
 

 ������
� ��
��	� �	� �	� ���� 
��. 
	��. 

Ci ������� �����    
Co ����� �����    
Cio )��������
����� ����� 

Vcc = Vio, �� (��
�
� 1 �&', 
��	 Ta = 25 °C 

   
�* 

 
����
� ��������� �����������. 
 

������
� ��
��	� �	� �	� ���� 
��. 
	��. 

+����#��	� RMS  16,0  ,	
 
SNR  96  �, 
�$��
!
��� �#	$�� ��	
��	�  0,1  % 
-��	�	���
� ��	
��	� �
 Vio  0,08  %/� 
-��	�	���
� ��	
��	� �
 
������
���  0,0008  %/% 
����
	$�������� ���"��	�  < 0,01  % 
-��	�	���
� ���"��	� �
 
������
���  < 0,2  ppm/K 
PSRR 

Vio = Vcc =3,3 � 
PT1000 
�����
� 150 �* 
 

 > 100  �, 
 
2.2. ������������ ��������������. 
 
��	 Vcc = 3,3 ± 0,3 �, 
������
��� ������!"�� ����� -40 +85 °C, ��
	 �� ������� 	���. 
 

 ������
� �	� �	� ���� 
��. 
	��. 

&�����
�� 
Clk32 &�����
�� ������� (��
�
� 32 %&'  32,768  %&' 

toszst 
����� ������� �. ������
��� � �����	(���	� 
������
���� 

 200  ��� 

toszst 
����� ������� �. ������
��� � ����'���� 
������
���� 

 5  �� 

ClkHS .��
�
� �. ������
��� 2  8 �&' 
/�
��0 ��� SPI 

��	 Vio (�)  
2,0 2,5 3,3  

fclk ���
���� (��
�
� 10 20 25 �&' 
tpwh )
	
�
����
� �������� ������ 
��
���� 	���
����  50 25 20 �� 
tpwl )
	
�
����
� �	����� ������ 
��
���� 	���
����   50 �� 

tsussn �����  �
 ����(	 	���
��� SSN 
� 
��
���� 	���
���� 40 20 10 �� 
tpwssn )
	
�
����
� 	���
��� SSN ����� '	�
��	 ���	�	 50 30 20 �� 

thssn 
����� �������	� 	���
��� ���
� �����!"��� 
�������� 	���
��� SCLK 

70 40 25 �� 

tsud 
�����  ������
�����	 ������ �� �����!"��� 
�������� 	���
��� SCLK 

10 5 5 �� 

thd 
�����  �������	� ������ �� �����!"��� �������� 
	���
��� SCLK 

10 5 5 �� 

��	 Vio (�)  
1,8 2,5 3,3  

tvd 
����� �� ����
��	� 	�
	���� ������ ���
� 
�����
�!"��� �������� SCLK 

30 20 16 �� 

 
 
 
 
 
 
 
 
 
 



����� �!� SPI. (Clock Phase Bit =1, Clock Polarity Bit =0). 
 

 
 

���. 1. "�����. 
 
 

 
 

���. 2. #�����. 
 
$%�&  %
��'(��. 
 

8 $	
��� ��� �����'		 
MSB………………..………………………………………LSB 1�	���	� 
1 0 0 0 0 ADR2 ADR1 ADR0 -��	�� �� ������ 
1 0 1 1 0 ADR2 ADR1 ADR0 .
��	� �� ������ 
0 1 1 1 0 0 0 0 Init 
0 1 0 1 0 0 0 0 Power On Reset 
0 0 0 0 0 0 0 1 Start_Cycle 
0 0 0 0 0 0 1 0 Start_Temp 
0 0 0 0 0 0 1 1 Start_Cal_Resonator 
0 0 0 0 0 1 0 0 Start_Cal_TDC 

 
 
������������ �������������� ���
)����� ������ STOP. 
 
 

 
���.3. 

 
 

 ������
� �	� ���� ��. 	��. 
tS-EN ����� ������
�����	 5 - �� 
tSH-EN ����� �������	� 5 - �� 

 



������������ �������������� ����� ������. 
 
 

 
 

���.4. 
 
 

 ������
� �	� ���� ��. 	��. 
tph )
	
�
����
� 	���
��� �$���� 50 - �� 

trfs 
����� �
 �����
�!"��� �������� 	���
��� 
�$���� �� ���
��
��	� ��$�
	� 

200 - �� 

 
 
2.3. %������� �������. 
 

 
 

2 1$����(. 1�	���	� �	� $�0 ��� ������� 
��
	 �� 
	��
��. 

1 Xin ���� ������
���    GND 
2 Xout ����� ������
���    
3 Vio ��������	� �	
��	� ������ - �������    
4 GND 1$"	�    
5 Fire1 ����� ������
��� Fire pulse 1 48 ��   
6 Fire2 ����� ������
��� Fire pulse 2 48 ��   

7 Fire_In 
���� �
� ������'		 �	���
� ����	 
«sing-around» 

  GND 

8 INTN *
�� ��������	� 12 �� ��
	���� 0  
9 SSN ��$���� ��	�
�

� 	�
��0 ���� SPI ��	����  �	

� ��
	���� 0  

10 SCK ���
���� �	���
 	�
��0 ���� SPI ��	����  �	

�   
11 SI ������� ������ 	�
��0 ���� SPI ��	����  �	

�   

12 SO �������� ������ 	�
��0 ���� SPI 
12 �� � 
���� 
���
���	��	 

  

13 RSTN ���� �$���� ��	����  �	

� ��
	���� 0  
14 Vcc ��������	� �	
��	� ����    



15 Clk32Out ����� ������
��� 32 %&'   n. c. 
16 Clk32In ���� ������
��� 32 %&'   GND 
17 SenseT ���� ����
� 	������	� 
������
��� ��	����  �	

�   

18 LoadT 
����� ������ ��������
��� ����
� 
	������	� 
������
��� 

24 ��   

19 PT4 ���
 	������	� 
������
��� 4 48 ��   
20 PT3 ���
 	������	� 
������
��� 3 48 ��   
21 GND 1$"	�    
22 Vio ��������	� �	
��	� ������ - �������    
23 PT2 ���
 	������	� 
������
��� 2 48 ��   
24 PT1 ���
 	������	� 
������
��� 1  48 ��   
25 En_Stop2 ����� �����#��	� �	���
� Stop 2 ��	����  �	

� ��
	���� 1 Vio 
26 En_Stop1 ����� �����#��	� �	���
� Stop 1 ��	����  �	

� ��
	���� 1 Vio 
27 Stop2 ���� Stop 2   GND 
28 GND 1$"	�    
29 Vcc ��������	� �	
��	� ����    
30 Stop1 ���� Stop 1   GND 
31 Start ���� Start    
32 En_Start ����� �����#��	� �	���
� Start ��	����  �	

� ��
	���� 1 Vio 

 
2.4. $����� ����������. 
 

 
 
���
���� �����
	�
��	�: 
��	����� 40 K/�
 ��	 ������
	 ��
��� �����#���� ��
�����	� 0 �/�, 37 K/�
 ��	 ������
	 1 �/�, 
35 K/�
 ��	 ������
	 2 �/�. 
 
 
2.5. 
������ ����������. 
 
2.5.1. *����+���� �������. 
 
3�
� �	�������� TDC-GP2 ��
���
�! '	0 �����, 
��$����	� � �� �	
��	! 
��	� ��, ��� � 
���
������ ����. ��	(	�� � 
��, (
� ��� �
� 	������	� ��������� 	�
����
�� 	���
����
 
�������� �������
�����	� �	���
� � '	0 ����� �(�����, ��
���� 	������
�� ��	 	������		 

������
��� 	 ��������	� �	
��	�. )
� ��
�(��	� ����#	� ����
�
�
�� 	������	� ���$���	�� 
����	
���� �������� '���� �	
��	�. 4��	 �	
��	� ��
��� �$
���
� ������� �����
�! 	 �	���� 
	����
	����
�!. 
 
TDC-GP2 	���
 ��� ���� ������� 	�
�(�	�� �	
��	�: 

• Vio - ��������	� �	
��	� ������ – �������; 
• Vcc - �������� ��������	� �	
��	�. 

 
��� �����
�!"	� ������ ��
��� $�
� ������� � ���
�� ��(�
��� �
�
�. 
�	
��	� �� Vio 	 Vcc ��
��� ������
��� �
 $�
�����	 	
	 
	������� �
�$	
	��
��� ��������	�. 
�� 	���
����
� �
!(���� �
�$	
	��
��� ��������	�. 
 
2.5.2. ,�� ������
����. 
 



 ��
��$
����� 
�� TDC-GP2 - ����� 
���� ��
��$
��	� ���
	(��� (��
�� �	�������� (��� 
������ ��	������ �
� Vio = Vcc = 3,6 �). 
 

Iddq < 150 �� ��� �����. 

I32 4,5 ��� (
	�.) 
��� ������
��� 32 �&'. ��
��$
��
�� 
�
���, ��
	 ������
�� 32 �&' 
��
!(��. 

Ihs 
260 ���/� (
	�.) · 
��
	���� ����� 

��� ������(��
�
���� ������
���. 
��	���: � �- ������������ ������(��
�
��� ������
�� ��
!(�� 
��	����� 2 ��. 
5������ ���(��	� 
���: 260���/�· 2 �� = 0,52 ���.  
  

Itmu 
15 ��/� (
	�.) · 
��
	���� ����� 

��� $
��� 	������	� ������	. 
� �	������� 	������	� 1 $
��� 	������	� ������	 ��
	��� � 
	�
����
� ������	 �
 �
��
� �� �
���, �
!� ������� ��
	$����	 
(2 ���	��� ����!"��� ������
���) �� ���� 	������	�. 
� �	������� 	������	� 2 $
��� 	������	� ������	 ��
	��� � 
������� 4 ���	��� ����!"��� ������
��� �� 	������	� (��� 
�
� 	������	� ������	 	 ��� �
� ��
	$����	). 
��	���: ��	 10 	������	�� � ������� � �	������� 	������	� 2 	 
(��
�
� ����!"��� ������
��� 4 �&' $
��� 	������	� ������	 
��
	��� ��	����� 10 ���. 
5������ ���(��	� 
���: 15 ��/�· 10 ��� = 0,150 ���. 

Ialu 7 �� �� ��(	�
��	� 

��� ��(	�
	
�
����� ���� �� ����� �$��$�
�	 ������, ��
!(�� 
��(	�
��	� ��
	$����	.  
��	���: ������� ���(��	� 
��� ��(	�
	
�
����� ���� ��	 1000 
	������	�� � ������� � 1 �
��
�� 	 3 �
����	: 
7 ��· 3000 = 21 ���. 

IT 
2,5 ���� (
	�.) · 
���	�� 	������	� 

��� ��
���� '	�
� 	������	� 
������
���. 
� 
��
��(�
(	�� 
������
��� �$�(�� 	������
�� 1 ��� � 30 �. 
5������ ���(��	� 
��� ��	$
	�	
�
��� 0,085 ���. 

 
 2.6. -�������� ��.������. 
 
s.�. ����	���� $	
�, 	���
���!
�� 
�
��� �
� 	���
��	� ��	 	���
��
��		 	 '�
�� ��"	
�. 
n.�. $	
� �� 	���
���!
��. 
* - ���(��	� �� ���
(��	!. 
����
���
�, 	���
����
� ������������� ��
	(	��. 
 
2.6.1. ��.����� ������. 
 
,	
 Reg 0 * Reg 1 * Reg 2 * Reg 3 * Reg 4 * Reg 5 * 
23 0 0 0 s.�. 0 s.�. 0 0 
22 0 1 0 s.�. 0 s.�. 0 0 
21 0 0 

EN_INT 
1 EN_ERR_VAL 0 s.�. 1 

CONF_FIRE 
0 

20 

FIRE#  

0 

HIT2 

1 RFEDGE2 0 1 s.�. 0 EN_STARTNOISE 0 
19 0 0 RFEDGE1 0 

SEL_TIMO_MR2 
1 s.�. 0 DIS_PhaseNoise 0 

18 0 1 0 0 0 0 
17 0 0 0 0 0 0 
16 

DIV_FIRE 

0 

HIT1 

1 0 0 0 
REPEAT_FIRE 

0 
15 0 EN_FAST_INIT 0 0 0 0 0 
14 

CALRES#  
0 s.�. 1 0 0 0 0 

13 0 0 0 0 0 0 
12 

ClkHSDiv 
0 0 0 0 0 0 

11 0 
HITIN2 

0 0 0 0 0 
10 

START_ClkHS 
1 n.�. 0 0 0 0 0 

9 PORT#  1 n.�. 0 0 0 0 0 
8 TCycle 0 n.�. 0 0 0 0 0 
7 No_FAKE 0 n.�. 0 0 0 0 0 
6 SelClkT 1 n.�. 0 0 0 0 0 
5 Calibrate 1 n.�. 0 0 0 0 0 
4 DisAutoCal 0 n.�. 0 0 0 0 0 
3 MRange2 1 n.�. 0 0 0 0 0 
2 NEG_STOP2 0 n.�. 0 0 0 0 0 
1 NEG_STOP1 0 n.�. 0 0 0 0 0 
0 NEG_START 0 n.�. 0 

DELVAL1 

0 

DELVAL2 

0 

DELVAL3 

0 

PHASE_FIRE 

0 

 
%��
��� ��	���	� $	
��: 



 
Reg 0 

0 NEG_START /�����	� �������� �	���
� start 
0 = ��
 	�����		, ��$�(	� – �����
�!"	� ������� 
1 = 	�����	�, ��$�(	� – �����!"	� ������� 

1 NEG_STOP1 /�����	� �������� �	���
� stop 1 
0 = ��
 	�����		, ��$�(	� – �����
�!"	� ������� 
1 = 	�����	�, ��$�(	� – �����!"	� ������� 

2 NEG_STOP2 /�����	� �������� �	���
� stop 2 
0 = ��
 	�����		, ��$�(	� – �����
�!"	� ������� 
1 = 	�����	�, ��$�(	� – �����!"	� ������� 

3 MRange2 �����
!(��	� � �	������ 	������	� 2 
0 = �	������ 	������	� 1 
1 = �	������ 	������	� 2 

4 DisAutoCal ��
!(��	� / ���
!(��	� ��
���
	$����	 
0 = ��
���
	$����� ��
!(��� 
1 = ��
���
	$����� ���
!(��� 

5 Calibrate 
��
!(��	� / ���
!(��	� 	���
������	� 
����
�
�
�� ��
	$����	 �
� ��(	�
��	� 

0 = ��
	$����� ���
!(��� (
�
��� � �	������� 
	������	� 1) 

1 = ��
	$����� ��
!(��� 

6 SelClkT 
��$�� �������� �	���
� �
� 

��
	�����	� 	������	� 
������
��� 

0 = 32,768 %&' 
1 = 128· CLKHS (32 ��� ��	 4 �&') 

7 FAKE#  
%�
	(��
�� �
$���������� ����
�
�
�� 
	������	� �
 ��(�
� 	������	� 

������
��� 

0 = 2 �
$���������� ����
�
�
� 	������	� 
1 = 7 �
$���������� ����
�
�
�� 	������	� 

8 TCycle 
��
������ �
	
�
����
	 '	�
� 
	������	� 
������
��� 

0 = 128 ��� ��	 4 �&' 
1 = 512 ��� ��	 4 �&' (������������� ���(��	�) 

9 PORT#  
��
������ ��
	(��
�� ���
��, 
	���
������� �
� 	������	� 

������
��� 

0 = 2 
������
����� ���
� (PT1 	 PT2) 
1 = 4 
������
����� ���
� 

10-11 START_CLKHS ��
!(��	� �. ������
��� 

0 = ������
�� ���
!(�� 
1 = ������
�� ��
!(�� 
2 = ����� ��
����
��	� 640 ��� 
3 = ����� ��
����
��	� 1280 ��� (��. �
(�
 �$ 

�#	$���) 

12-13 ClkHSDiv 
��
������ ��60 0 	'	��
� ��
��	� �
� 
������
	
�
� CLKHS 

0 = ��60 0 	'	��
 ��
��	� 1 
1 = ��60 0 	'	��
 ��
��	� 2 
2 = ��60 0 	'	��
 ��
��	� 4 
3 = ��60 0 	'	��
 ��
��	� 4 

14-15 CALRES#  
��
������ ��
	(��
�� ���	���� 
��
���� 
(��
�
� 32,768 %&' �
� ��
	$����	 
�����	(������ ������
��� 

0 = 2 ���	��� = 61,035 ��� 
1 = 4 ���	��� = 122,07 ��� 
2 = 8 ���	���� = 244,714 ��� 
3 = 16 ���	���� = 488,281 ��� 

16-19 DIV_FIRE 
��
������ ��60 0 	'	��
� ��
��	� 
������
	
�
� fire-pulse ������
��� 

0 = �
��
�
���
 
1 = ��60 0 	'	��
 ��
��	� 2 
2 = ��60 0 	'	��
 ��
��	� 3 
… 
15 = ��60 0 	'	��
 ��
��	� 16 

20-23 FIRE#  
��
������ ��
	(��
�� 	���
���� fire-
pulse ������
��� 

0 = fire-pulse ������
�� ���
!(�� 
1 = 1 	���
�� 
2 = 2 	���
��� 
… 
15 = 15 	���
���� 

 
 

Reg 1 

8-10 HITIN1 
%�
	(��
�� ��	������ ��$�
	� � 
����
� stop 1 

0 = ����
 stop 1 �
�
!(�� 
1 = 1 ��$�
	� 
2 = 2 ��$�
	� 
3 = 3 ��$�
	� 
4 = 4 ��$�
	� 
5 - 7 = �� ��	����!
�� 

11-13 HITIN2 
%�
	(��
�� ��	������ ��$�
	� � 
����
� stop 2 

0 = ����
 stop 2 �
�
!(�� 
1 = 1 ��$�
	� 
2 = 2 ��$�
	� 
3 = 3 ��$�
	� 
4 = 4 ��$�
	� 
5 - 7 = �� ��	����!
�� 

15 EN_FAST_INIT 
��
!(��	� ���	�� $��
��� 
	�	'	�
	��'		 

0 = ���
!(��� 
1 = ��
!(��� 

16-19 HIT1 

1�����
��	� �����
���� �
� 
�$��$�
�	 � ALU 

�	������ 	������	� 1: HIT1 - HIT2 
�	������ 	������	� 2: HIT2 - Start 

�	������ 	������	� 1: 
0 = Start 
1 = 189 Stop ����
� 1 
2 = 219 Stop ����
� 1 
3 = 3/9 Stop ����
� 1 
4 = 489 Stop ����
� 1 
5 = ��
 ����
�	� 
6 = Cal1 Ch1 
7 = Cal2 Ch1 
9 = 189 Stop ����
� 2 
A = 219 Stop ����
� 2 
B = 3/9 Stop ����
� 2 
C = 489 Stop ����
� 2 

�	������ 	������	� 2: 
1 = Start 
 



20-23 HIT2 

1�����
��	� �����
���� �
� 
�$��$�
�	 � ALU 

�	������ 	������	� 1: HIT1 - HIT2 
�	������ 	������	� 2: HIT2 - Start 

�	������ 	������	� 1: 
0 = Start 
1 = 189 Stop ����
� 1 
2 = 219 Stop ����
� 1 
3 = 3/9 Stop ����
� 1 
4 = 4. Stop ����
� 1 
5 = ��
 ����
�	� 
6 = Cal1 ����
� 1 
7 = Cal2 ����
� 1 
9 = 189 Stop ����
� 2 
A = 219 Stop ����
� 2 
B = 3/9 Stop ����
� 2 
C = 489 Stop ����
� 2 

�	������ 	������	� 2: 
2 = 189 Stop ����
� 1 
3 = 219 Stop ����
� 1 
4 = 3/9 Stop ����
� 1 
 

 
 

Reg 2 

0-18 DELVAL1 

��
	(	�� �������	 ���
������� 
�����#��	� �$��$�
�	 1&1 ��$�
	� � 
����
� 1. .	�
� � 0 	��	�������� 

�(��� (14 �������� – '�
�� (��
�, 5 
�������� – ���$���) �������
�� �� Tref 

DELVAL1 = �
 0 �� 16383,96875 

19 RFEDGE1 +�$�(	� ������� stop 1 
0 = �����
�!"	� 	
	 �����!"	� ������� 
1 = �����
�!"	� 	 �����!"	� ������� 

20 RFEDGE2 +�$�(	� ������� stop 2 
0 = �����
�!"	� 	
	 �����!"	� ������� 
1 = �����
�!"	� 	 �����!"	� ������� 

21-23 EN_INT 
+����#��	� 	�
�(�	��� ��������	�, 
����	������ �� /:/ 

Bit 23 = �����#��	� ��������	� �
ALU 
Bit 22 = �����#��	� ��������	� �� ����#��	! ���� 

��	������ ��$�
	� 
Bit 21 = �����#��	� ��������	� �� �����#��	! 


���-��
� 
 
 

Reg 3 

0-18 DELVAL2 

��
	(	�� �������	 ���
������� 
�����#��	� �$��$�
�	 2&1 ��$�
	� � 
����
� 1. .	�
� � 0 	��	�������� 

�(��� (14 �������� – '�
�� (��
�, 5 
�������� – ���$���) �������
�� �� Tref 

DELVAL2 = �
 0 �� 16383,96875 

19-20 SEL_TIMO_MR2 
��$�� 
���-��
� � �	������� 
	������	� 2 

��	 CLKHS = 4 �&' 
3 = 4096 ��� 
2 = 1024 ��� 
1 = 256 ��� 
0 = 64 ��� 

21 EN_ERR_VAL 
+����#��	� ���	�	 ���� �#	$�	 
�����#��	� 
���-��
� (0xFFFFFFFF) 	� 
ALU � ���	�
� ����
�
�
� 

0 = �
�
!(��� 
1 = ���	�� � ���	�
� ����
�
�
� 

 
 

Reg 4 

0-18 DELVAL3 

��
	(	�� �������	 ���
������� 
�����#��	� �$��$�
�	 3&1 ��$�
	� � 
����
� 1. .	�
� � 0 	��	�������� 

�(��� (14 �������� – '�
�� (��
�, 5 
�������� – ���$���) �������
�� �� Tref 

DELVAL3 = �
 0 �� 16383,96875 

 
 

Reg 5 

0-15 PHASE_FIRE 

+����#��	� 	������	� 0 ��� �
� 
������� 	���
��� � 
���
�����
�
����
	 �� 15 ��������� 
	���
���� 

0 = no pulse inverting 
1 = inverts pulse signal in phase 

16-18 REPEAT_FIRE 
%�
	(��
�� ���
���� 	���
����� 
���
�����
�
����
	 (����	 «sing 
around») 

0 = ��
 ���
���� 
1 = 1 ���
�� 
2 = 2 ���
��� 
… 
7 = 7 ���
���� 

19 DIS_PHASENOISE ��
!(��	� / �
�
!(��	� ����
� #��� 1 = ���	� 0 ��� �
�
!(�� 

20 EN_STARTNOISE 
+����#��	� ����
�	
�
����� #��� 
�
� ����
� �
��
 

1 = ��
!(��	� #������� ����
� 

21-23 CONF_FIRE 
%��0 	����'	� ������� fire-pulse 
������
��� 

Bit 23 = 1 	�����	� ������ Fire 2 
Bit 22 = 1 �
�
!(��	� ������ Fire 2 
Bit 21 = 1 �
�
!(��	� ������ Fire 1 

 
 
 



2.6.2. ��.����� ������. /����� �������� ������. 
 
s.�. ����	���� $	
�, 	���
���!
�� 
�
��� �
� 	���
��	� ��	 	���
��
��		 	 '�
�� ��"	
�. 
n.�. $	
� �� 	���
���!
��. 
* - ���(��	� �� ���
(��	!. 
 
���. 1$���. ,	
 1�	���	� 

0 RES_0 32 
+���
�
�
 	������	� 1. .	�
� � 0 	��	�������� 
�(���. 16 $	
�� – '�
�� (��
�, 16 – ���$��� 
(215…20,2-1…2-16) 

1 RES_1 32 
+���
�
�
 	������	� 2. .	�
� � 0 	��	�������� 
�(���. 16 $	
�� – '�
�� (��
�, 16 – ���$��� 
(215…20,2-1…2-16) 

2 RES_2 32 
+���
�
�
 	������	� 3. .	�
� � 0 	��	�������� 
�(���. 16 $	
�� – '�
�� (��
�, 16 – ���$��� 
(215…20,2-1…2-16) 

3 RES_3 32 
+���
�
�
 	������	� 4. .	�
� � 0 	��	�������� 
�(���. 16 $	
�� – '�
�� (��
�, 16 – ���$��� 
(215…20,2-1…2-16) 
15-13 12 11 10 9 8 – 6 5 – 3 2 – 0 

4 STAT 16 
n.�. 

1#	$
�� 
%.-. 

1#	$
�� 

�$��� 

����-��
 
���$��� 
�(�
(	�� 

����-
��
 TDC 

%�
-�� 
����#	�#	��� 
��$�
	� � 
����
� 2 

%�
-�� 
����#	�#	��� 
��$�
	� � 
����
� 1 

�����
�
� 
���	�
�� 
����
�
�
� 

5 REG_1 8 5�����	��� �����	� 8 $	
�� ���	�
�� ���	�	 1 	���
����
�� �
� �������	 ����	 

 
5
���
��� ������ 	 ����
���	� ���	�
��� ����
�
�
� ���	��
 �
 ���	�� ��$�
� 	 �
 
���, ���	� 
������ �����
�� � �	� (��
	$�������� 	
	 ����
	$��������). ���$���	�� ��	�	
�: 

• �
�	'�
�
���� ����
�
�
 �������� 
�
��� � �	������� 	������	� 1; 
• � �	������� 	������	� 2 �������� 
�
��� ��
��	
�
���� ����
�
�
�, �����
��
����� ��� 

(	�
� $�� �����; 
• ����
	$�������� 	������	� �������� 
�
��� � �	������� 	������	� 1; 
• � �	������� 	������	� 1 � ��
	$��������	 ������	 	��������� 	�
����
� ������	 �� 

����
 $�
� $�
�#� ���� ���	���� 
��
�� ��
	$����	. ��	 	������		 $�
�#	� 	�
����
�� 
������	 ���	�����
 ������
���	� ALU 	 ����
��	� ���� 0xFFFFFFFF � ���
��
�
��!"�� 
���	�
�� ����
�
�
�. 

 
a. �������� ��������� 1 � ��
�������! ������ (Calibrate = 1). 
 
+���
�
�
� ����!
�� � ����	
�
�� ���	��� ���
������ ������� (��
�
�, ������� ���	��� 
���#��� ������� (��
�
�, �����
������ �� 1, 2 	
	 4 (DIV_CLKHS). �����
��
��	� ��
	$�������� 
������ - 32 $	
� � 0 	��	�������� 
�(��� (16 $	
�� – '�
�� (��
�, 16 – ���$���). ��6
��� 
!$�� 
��
	$�������� ����
�
�
 ���	���
 1 ���	�
� ����
�
�
�. ����(� ������ ��(	���
�� �� �
��#��� 
$	
� (215). *����
 (	�
� – ����
���	� �� 2. 
 
Time = RES_X· Tref· 2ClkHSDiv = RES_X· Tref· N, ��	 N = 1, 2 	
	 4 
Time < 2· Tref· 2ClkHSDiv 
 
b. �������� ��������� 1 ��� ��
������� ������ (Calibrate = 0). 

 
�����
��
��	� ����
	$�������� ������ – '�
�� (	�
� �� ������, (	�
� ��������
�� � 16 
�
��#	� $	
�� ���	�
�� ����
�
�
�. �
��#	� $	
� ��
����
��� � ��
�. +���
�
�
 �����
��
�� � 
��
	(��
��� �
��#	� $	
�� 	 �����
��
�� � ����
���		 �� 2. 
 
Time = RES_X· LSB ; RES_X· 65 �� 
 
c. �������� ��������� 2. 
 
� �	������� 	������	� 2 TDC-GP2 �������	���
 
�
��� ��
	$�������� 	������	�. +���
�
�
� 
����!
�� � ����	
�
�� ���	��� ���
������ ������� (��
�
�, ������� ���	��� ���#��� ������� 
(��
�
�, �����
������ �� 1, 2 	
	 4 (DIV_CLKHS). �����
��
��	� ��
	$�������� ������ - 32 $	
� � 
0 	��	�������� 
�(��� (16 $	
�� – '�
�� (��
�, 16 – ���$���). ��6
��� 
!$�� ��
	$�������� 
����
�
�
 ���	���
 1 ���	�
� ����
�
�
�. ����(� ������ ��(	���
�� �� �
��#��� $	
� (215), 
�����(	���
�� �
��#	� (2-16). *����
 (	�
� – ����
���	� �� 2. 
 
Time = RES_X· Tref· 2ClkHSDiv = RES_X· Tref· N, ��	 N = 1, 2 	
	 4 
 
 
 
 



2.6.3. ��.���� ��������� 
 

��	�������	� 1�	���	� -��(��	� 

Pointer Result-Register 
��������
 �� �
���!"�! ���$����! �(���� 
� ���	�
�� ����
�
�
� 

 

#  of Hits Ch 1 
%�
	(��
�� �����	�
�	�������� ��$�
	� � 
����
� 1 

 

#  of Hits Ch 2 
%�
	(��
�� �����	�
�	�������� ��$�
	� � 
����
� 2 

 

Timeout TDC 
������
���	� ����
� 	������	� ������	 
TDC 

1 = ������
���	� 

Timeout Precounter 
������
���	� 14 $	
����� ���$����(�
(	�� � 
�	������� 	������	� 2 

1 = ������
���	� 

Error open 1$��� ��
(	�� 
������
��� 1 = �$��� 
Error short %���
��� �������	� ��
(	�� 
������
��� 1 = ����
��� �������	� 
 
 
3. �������� ��������� 1. 
 
3.1. %�0 �� ��������. 
 

• 2 ����
� 	������	�, ����������� �
 ������ �
��
����� �	���
� 
• ������������
	(��� �����#�!"�� �����$���
� ������� ����
�  50 �� (
	�) 
• ���(��	� �
��#��� $	
� 65 �� (
	�) 
• �����#�!"�� �����$���
� ���� 	���
���� 15 ��  
• ���������
� �����
��	� 	������	� (�� 43) �
� ������� ����
� ��
����� 
• �	������ 	������	� �
 2,0 �� �� 1,8 ��� 
• ��$�� ��$�(	� ��������� �	���
�� START 	 STOP �
� ������� ����
� 
• ������ ��
!(��	� �
� ���������
	 ��$�
� � �����	 
• ���������
� ���	���
��� 	�����
� ��� ��$�
	� �
���	
�
��� ���� ����� 

 
)
� 	������	� 	�
����
�� ������	 � ������� 
�(���
�! TDC 	���
����
 ���
����	� �������	 
�������
�����	� �	���
� (���� '	0 ����� �(���	. +	�.5, ���<�����
 �������! �
���
��� 
���� 
��$�
�. /�����!"	� ����
� ��������
�� �	���
�� START 	 ��
����
	���
�� �	���
�� STOP. 5 
����"�! ��
�'����� ������
��� 	 ���$��� �(�
(	�� 	�
����
 ������	 ����� START 	 STOP 
����(	
����
��  � �����#��	�� � 20 $	
��. 
��
	(	�� �
��#��� $	
� 
	�	(�� 65 �� ��	 3,3 � �	
��	� 	 ������!"�� 
������
��� 25 °C. 
5�����������
	(��� #�� ���
��
��
 ��	$
	�	
�
��� 50 �� (0,7 LSB). ����� �������	 
�������
�����	� �	���
� �	
��� ���	�	
 �
 
������
��� 	 ��������	� �	
��	�. 1$�(�� 6
� 
���	�	���
� ��
�����
�� ��
	$������. �� ����� 
���� ��
	$����	 TDC 	������
 1 	 2 ���	��� 
(���� �����. 
)	������ 	������	� �����	(�� �
�$	��� �(�
(	��: 
tyy = LSB· 26224 ; 1,8 ���. 
 

 
 

���.5. 
 



 
 

���.6. 
 

 ����� 1�	���	� 
tph 2,5 �� (�	�) �	�	��
���� �
	
�
����
� 	���
��� 
tpl 2,5 �� (�	�) �	�	��
���� �
	
�
����
� 	���
��� 

tss 
3,5 �� (�	�) 
1,8 ��� (����) 

����� �
 START �� STOP 

trr 15 �� (
	�) 1
 �����
�!"��� �� �����
�!"��� �������� 
tff 15 �� (
	�) 1
 �����!"��� �� �����!"��� �������� 

tva 
560 �� ����
	$�������� 
4,6 ��� ��
	$�������� 

����� �
 ���
������ 	������	� �� ��
�����
	 
�������� ������ 

txx ,�� ��������� �����	(��	�  
tyy 1,8 ��� (����) ����	��
���� 	��������� ����� 

 
������� 1���. 
 
%����� 	� ������ START 	 STOP �
��
��� ����
 $�
� ��
����
�� �� ���$�
����	� �� 
�����
�!"��� 	
	 �����!"��� �������� �	���
� 	
	 �� �$�	� ���������. =
� ��
��
�� 
��
������� � ���	�
�� 0 $	
�� � 0 �� 2 (NEG_START, NEG_STOP1, NEG_STOP2) 	 � ���	�
�� 2 $	
�� 19 	 
20 (RFEDGEx). %���� 
���, ��
� ������
��� ������ �����#��	� ���� ������ START/STOP (��
	���� 
������� – �����	�). 
 
3.2. 
��1��� ��������!. 
 

 
 

���. 7. 



3.2.1. $�� �.����������. 
 
����� ��(�
�� 	������	� TDC-GP2 ��
��� $�
� ����0 	���	�����. 1������� ������
�� 
���
����	 �
� �	������� 	������	� 1: 
 
a. ��$��
� �	������ 	������	� 1, ��
����	� � ���	�
�� 0 $	
 3 = 0 (MRange2). 
 
b. ��$��
� ������! 
��
���! (��
�
� (��. 
���� �����
 5.1.) ��
������� � ���	�
�� 0 $	
� 6 
(SelClkT). 0 – 32,768 %&', 1 – �. 
��
	�����	�. 
,	
� 10 	11 (START_CLKHS) ���	�
�� 0 ������
�!
 ��
!(��	� �. 
��
	�����	�. ��
	 	���
����
�� 

��
	�����	� 
�
��� �
 32 %&', ��	 ��
����
	��!
�� � 0. ��
	 	���
����
�� 
�
��� �. 
��
	�����	�, 
��	 ��
����
	��!
�� � 1 (���������� ��
!(���). � �
�(��, ��
	 	���
���!
�� �$� ������
��� (�
� 
��	���	� 
��� ��
��$
��	�), $	
� ��
��� $�
� ��
����
��� � 2 �
� �����	(���	� ������
���� 	 � 
3 �
� ����'����. 
,	
� 12 	 13 (ClkHSDiv) ���	�
�� 0, ��
����
	��!
 ����
�	
�
���� ���
����	� ��
	
�
� �
� ������� 

��
�� (1,2 	
	 4). =
� ����� �
� ��������	� ��
	$�������� 	������	� � �	������� 	������	� 1, 
��
��� (
� ALU ��$�
��
 ����	
���, 
�
��� ��
	 2· Tref (	�
.) $�
�#� ����	��
����� 	���������� 
	�
����
� ������	. /��(� �� ������ ALU $���
 ��� 0xFFFFFFFF. 
�$��	
���, (
� 2· Tref (	�
.) <1,8 ��, (
�$� �� ������	
� ����� 
�����
� � 
�(��	� ��
	$����	. 
 
c. -���
� ��
	(��
�� 	������	� � ���	�
�� 0 $	
��	 8 –  10 	 11 – 13 (HITIN1 	 HITIN2). ��
�����
�
� 
��
��� ������
	
� ��
	(��
�� ��$�
	�, ��
���� ��
��� ���
� TDC-GP2. ��������� ����	��� – 4 
��$�
	� � ������ ����
�. TDC-GP2 $���
 ������	
� 	������	�, ���� �� ���
���
 ��� �������� 
��$�
	� 	
	 �� 	�
�(�
 ����� 
�����
�. 
 
d. ��$��
� �����$ ��
	$����	.  
)
� ��
�����	� �
	��	� 
������
��� 	 ��������	� �	
��	� �� ����
�
�
� 	������	�, ALU TDC-GP2 
����
 �
��
	$����
� ����
�
�
�. =
� ��'	� ��
!(��
�� ��
������� $	
� 5 (Calibrate) ���	�
�� 0 � 1. 
+���������� ������ ��
�
� 6
�. 
)
� ��
	$����	 TDC 	������
 1 	 2 
��
� ������� (��
�
�. =
	 ������ �������!
�� ��� Cal1 	 Cal2. 
��
� ��� �����$� 	����	
� ������ ��
	$����	 Cal1 	 Cal2: 
- �
��
���� ��
	$�����, �� ����
�� ���� �����'		 Start_Cal_TDC (���� SPI 	�
��0 ���; 
- ��
���
	(����� �$���
��	�, ���
� ��
�����	 � ���	�
�� 0 $	
 4 (EnAuto-Cal) ������ 1. � 
$�
�#	��
�� ��	
����	� 
���� �����$ ������(
	
�
����. 
 
e. 1�����
	
� �$��$�
�� ������ � ALU. 
����
� 	������	� � TDC ����
 	����	
� ����� �� 4 ��$�
	� � ������ ����
�. ��
�����
�
� 
����
 �����
�, (
� 	����� ALU ��
��� ��(	�
	
�. ���
����	 ��(	�
��	� ��
�!
�� � ���	�
�� 1 
$	
� � 16 �� 19 	 � 20 �� 23, HIT1 	 HIT2. 1$� ������
�� ����
 $�
� ��
����
��� �: 
 

0 = �
��
 
1 = 1. 5
�� ����
� 1  9 = 1. 5
�� ����
� 2 
2 = 2. 5
�� ����
� 1  � = 2. 5
�� ����
� 2 
3 = 3. 5
�� ����
� 1  B = 3. 5
�� ����
� 2 
4 = 4. 5
�� ����
� 1  C = 4. 5
�� ����
� 2 
6 = Cal1 Ch1 
7 = Cal2 Ch1 
 

ALU ��(	�
��
 Hit1 - Hit2. 
 
��	����: 
Reg1 = 0x01xxxx > 1�� �
�� ����
� 1 - �
��
 
Reg1 = 0x23xxxx > 3	� �
�� ����
� 2 – 2�� �
�� ����
� 1 
Reg1 = 0x06xxxx > Cal1 
 
��
	 ��
	$����� ��
	���, ALU ���
��
 ��
���
�! ��
	$�������� ��(	�
��	�. � ���
	���� �
�(�� 
ALU ���	#�
 ���$��$�
����� ������ Cal1/Cal2 � �������� ���	�
�. 
 
RES_X = (HIT1 – HIT2) / (Cal2 – Cal1) 
Cal2 – Cal1 = ����	��
 
Time = RES_X· Tref· 2ClkHSDiv = RES_X· Tref· N, ��	 N = 1, 2 	
	 4 
 



 
 

���. 8. 
 

f. ��$��
� ������! (���
�	
�
����
�. 
� ���	�
�� 2 $	
��	 19 	 20 (RFEDGE1 	 RFEDGE2) ��
�����
�
� ����
 ��$��
� ��$�(	� ������� 
�	���
�. ��	 RFEDGE = 0 ����'	� $���
 �� ��	� 	� ��������� (	� 0 � 1 	
	 	� 1 � 0), ��	 RFEDGE = 1 
����'	� $���
 �� �$� ��������. ��
������� $	
�� 0 – 2 � ���	�
�� 0 ��
�����
�
� ����
 ��$��	
� 
���
����	� 	����
�� � ������� 	� ������ Start, Stop1 	 Stop2. ��	 RFEDGE = 0 6
� ����(��
 ����� 
�����
�!"��� �������� �	���
� (NEG_X = 0) �� �����!"	� (NEG_X = 1). 
 
g. 1�����
	
� �������	� ��������	�. 
����� 8 INTN (��������	�) ����
 	��
� ���
	(��� 	�
�(�	�	. 1�	 ��$	��!
�� � ���	�
�� 2, $	
� 
21 – 23 (EN_INT). 
 

EN_INT = 0 – ��
 	�
�(�	��� ��������	�. 
 = 1 – ��
�����
� ALU. 
 = 2 – ���
��	
� �������� ��
	(��
�� ��$�
	�. 
 = 4 – 
�����
 ����
� 	������	� TDC. 

 
)����
	�� �$<��	���	� �� /:/ �����
��	� 	�
�(�	��� ��������	�. 
 
��
� 	 ����	� ���	��
� ���0 	����'		, ��
���� $���
 ��	���� �	��. ���
� ���0 	����'		 
��
�����
�
� ��
��� 	�	'	�
	�	����
� TDC-GP2, ����
�� (���� SPI ��� �����'		 Init, (
�$� TDC 
��(�
 �����	�	��
� �������� �� ������� Start 	 Stop. 
 
3.2.2. ���������. 
 
���
� 	�	'	�
	��'		, � �����
� ����
��	� ������� 	���
��� �� ������ Start, TDC ��(��
 
	������	� 	 $���
 ��$�
�
�, ����: 
- �� �$��$�
��
 �������� ��
	(��
�� ��$�
	� �
� �$�	� ����
�� (�� 4� � ������ ����
�); 
- �� 	�
�(�
 ����� ��	���	� (
�����
 ; 1,8 ��� � �	������� 	������	� 1). 
���$��$�
����� ������ 	������	� ������	 �������!
�� �� ���
����	� ���	�
���. %�
	(��
�� 
����#	�#	��� ��$�
	� ����
 $�
� �(	
��� 	� ���	�
�� ���
���	�, � $	
� 3 �� 8. 
��
	 ��
	$����� ��
	���, TDC 	������
 ��	� 	 ��� ���	��� ���
����	� ������� 
��
�� (Tref / 1,2 
	
	 4). ���$��$�
����� ������ ��
	$����	 Cal1 	 Cal2 
���� �������!
�� �� ���
����	� 
���	�
���. 
 

 
 

���. 9. 



3.2.3. %�������� ������. 
 
� ���'� 	������	� ALU ��(	���
 �$��$�
���
� ������ ���
���� ������
��� ���
����	 HIT1 	 
HIT2 	 ������"��
 ����
�
�
 � �������� ���	�
�. ��	 ���
!(����� ��
	$����� ALU ������"��
 
16 $	
��� ���$��$�
����� ������. 5 ��
	$������ ALU ���	����	
 ��(	�
��	� ���
���� 3.1.1.d. 	 
������"��
 � �������� ���	�
� 32 $	
��� ������. 
ALU ����
 $�
� ���
!(��, ��
������� HIT1=HIT2=5. 
����� 
��$����� ALU �
� ��$�
� ���	�	
 �
 ���$���	���
	 ��
	$����	 	 ��������	� �	
��	�. 
 
,��
. 1. ����� ������ ALU. 
 

��������	� �	
��	� ,�� ��
	$����	 5 ��
	$������ 
3,3 � 220 �� 1,8 ��� 
2,5 � 310 �� 2,5 ��� 
2,0 � 580 �� 4,6 ��� 

 
%�� 
�
��� ������ ���
���� � �������� ���	�
��, ��
����
	���
�� 0 
�� ��������	� 
(������
����
��, (
� ��������	� �
 ALU �����#���, ��. ���	�
� 2 $	
 EN_INT). )�
�� �����
�
� 
�������	 ��������� ���	�
�� ���
	(	���
�� �� 1 	 ��������
 �� �
���!"�� ���$����� ���
� � 
����
	. ����"�� ���
���	� �����
�
� �������	 ����
 $�
� �(	
��� � ���	�
�� ���
���	�, $	
� � 0 
�� 2. 
 
3.2.4. #����� ������. 
 
������ ��
�����
�
� ����
 �(	
�
� ������, ���
�� � TDC ��� �����'		 10110ADR. -� �
���!"	� 
16 '	�
�� (����
	$�������� ������) 	
	 32 '	�
� (��
	$�������� ������) TDC-GP2 �����
 
����
�
�
, ��(	��� �� �
��#��� $	
�. 
 
a. ����
	$�������� 0 ����
 ������: 
4�
�� 16 $	
��� (	�
� �� ������ � ����
���		 �� 2. 1 ������ ����� ����
	$��������� ������	 
�������	 ; 65 ��. 
����� ; RES_X· 65 ��. 
 
b. %�
	$�������� 0 ����
 ������: 
32 $	
��� (	�
� � 0 	��	�������� 
�(��� � ����
���		 �� 2. �����
��
��� � ����	
�
�� ���	��� 
������� 
��
���� (��
�
�. 
����� = RES_X· Tref· N, ��	 N = 1, 2 	
	 4. 
����� 	������	� �� ����
 ������	
� 2Tref· 2ClkHSDiv, 	��(� ALU �����
 � ������
���	� 	 ���	#�
 
������ 0xFFFFFFFF � �������� ���	�
�. 
ALU �����
��
 �����
��
�
��� �$��$�
�
� 
�
��� ���� ��$�
	�. � �
�(��, ��
	 $�
� 	������� 
$�
�#� ������ ��$�
	�, ���$���	�� ���	��
� ����� ������� � HIT1/HIT2, (
�$� ���$"	
� ALU � 
���$���	���
	 �$��$�
�
� 	 ����	� ��$�
	�. ���
� ���	�	 HIT1/HIT2 ���$���	�� �����
� 
�	�	��� 4,6 ��� (��
	$�������� ������) 	
	 580 �� (����
	$�������� ������) ����� (
��	�� 
	
	 ����� ���	��!  HIT1/HIT2. 
 
��	���: 
 
���� �������	
��� 
... 
�

��� reg1 = 0x100400 // 4 ������� 	 �
�
�� 1, 	�������� 	���� Hit1 - Start 
... 
�����
���
��� 
... 


��
 (
��	���
 � �
�
 
����	
���) 
�

��� reg1=0x200400 // 	�������� 	���� Hit2 - Start 
����
��� (4,6 ���) 
�

��� reg1=0x300400 // 	�������� 	���� Hit3 - Start 
����
��� (4,6 ���) 
�

��� reg1=0x400400 // 	�������� 	���� Hit4 - Start 
����
��� (4,6 ���) 
��
��� 	�� �
���� �����
�� 	 �������
� � 0 
� 3. 
��
����� ��
�
���� �
������ - 4. 
 



� ���'� TDC ��
��� $�
� ����� 	�	'	�
	�	������, (
�$� �����
��	
��� � �
���!"��� 
	������	!. =
� ��
��
�� ����
��� ���� �����'		 Init. 
 
4. �������� ��������� 2. 
 

• 1 ����
 ��
�����, ��	� ����
 �
��
� 
• ������������
	(��� �����#�!"�� �����$���
� 50 �� (
	�) 
• ���(��	� �
��#��� $	
� 65 �� (
	�) 
• �����#�!"�� �����$���
� ���� 	���
���� 2· Tref 
• ���������
� 	������	� �� 3� ��$�
	� 
• �	������ 	������	� �
 2· Tref �� 4 �� ��	 Fref  = 4 �&' 
• ��$	������ ��$�(	� ������� �������� �	���
� 
• ��������	������ ��$�
� � �����	 �
� ������� ��$�
	� � 
�(���
�! 10 ��  

 
� �	������� 	������	� 2 ����	��
���� 	�
����
 ������	 ���#	���
�� � 	���
������	�� 
������
	
�
�. +����#�!"�� �����$���
� � �
��#��� $	
� ��
��
�� ��	�������. � 6
�� ���	�� 
	����	
�
���� ����
� TDC �� 	������
 ���� 	�
����
 ������	, � 
�
��� 	�
����
� ������	 �
 
�	���
�� START 	 STOP �� �
���!"��� �����
�!"��� �������� ������� (��
�
� (
�(��� �(�
). 
����� 
�(���	 �(�
��	 TDC �(	
��
 ��
	(��
�� ���	���� ������� (��
�
� (���$�� �(�
). 
 

 
 

���. 10. 
 
��
	(	�� �
��#��� $	
� – 65 �� (
	�) ��	 3,3 � 	 25 °C 
������
��� ������!"�� �����. 
5�����������
	(��� #�� - ��	$
	�	
�
��� 50 �� (0,7 �
��#��� $	
�). � �	������� 	������	� 2 
����(��� ����
�
�
 	������	� - ����� ����
�
�
�� 
�(���� 	 ���$��� �(�
�. ��6
��� � �	������� 
	������	� 2 ���$���	�� �$���
�
��� ��
�
� ��
	$�����. �� ����� ��
	$����	 TDC 	������
 1 	 2 
���	��� ������� (��
�
�. 
)	������ 	������	� �����	(�� �������� ���$��� �(�
(	��: 
 
tyy = Tref· 214 ; 4 �� ��	 4 �&' 
 
/�
����
 ������	 ����� START 	 STOP ��(	�
��
�� � �����#��	�� 26 $	
��. 
 

 ����� 1�	���	� 
tph 2,5 �� (�	�) �	�	��
���� �
	
�
����
� 	���
��� 
tpl 2,5 �� (�	�) �	�	��
���� �
	
�
����
� 	���
��� 

tss 
2· Tref 
12· Tref 

����� �
 START �� STOP 

trr 2· Tref 1
 �����
�!"��� �� �����
�!"��� �������� 
tff 2· Tref 1
 �����!"��� �� �����!"��� �������� 

tva 4,6 ��� (����) 
����� �
 ���
������ 	������	� �� ��
�����
	 
�������� ������ 

tyy 4 �� (����) ����	��
���� 	��������� ����� 
 



 
 

���. 11. 
 
������� 1���. 
 
%����� 	� ������ START 	 STOP1 �
��
��� ����
 $�
� ��
����
�� �� ���$�
����	� �� 
�����
�!"��� 	
	 �����!"��� �������� �	���
� 	
	 �� �$�	� ���������. =
� ��
��
�� 
��
������� � ���	�
�� 0 $	
�� � 0 �� 2 (NEG_START, NEG_STOP1). %���� 
���, ��
� ������
��� 
������ �����#��	� ���� ������ START/STOP (��
	���� ������� – �����	�). 
������� ����� 
 
1$��
	
� ��	���	�: 
TDC $���
 	����	����
� ��� ��$�
	�, �����
������� $
	�� �	����� �����
� tzz. � 6
�� �
�(�� 
����
�
�
� 	������	� $���
 ��������	. 
 
4. 
��1��� ���������. 
 

 
 

���. 12. 
 
4.1.1. $�� �.����������. 
 
)� ��(�
� 	������	� TDC-GP2 ��
��� $�
� ����0 	���	�����. 1������� ������
�� ���
����	 
�
� �	������� 	������	� 2: 
 
a. ��$��
� �	������ 	������	� 2, ��
����	� � ���	�
�� 0 $	
 3 = 1 (MRange2). 
 
b. ��$��
� ������! 
��
���! (��
�
� (��. 
���� �����
 5.1) � �	������� 	������	� 2 TDC-GP2 
���$���	�� ������(��
�
��� 
��
	�����	�. � �	�����"��� ��	
����	�� ����� 	������	��	 
6
� 
��
	�����	� ����� �
�
!(	
�. ���
���� (��
�
� 32 %&' ���$���	�� �
� �����
��	� �� ����� 
��
!(��	� �. ������
���. 
+��	�
� 0 $	
 6 = 1 (SelClk) ��$	���
 �. 
��
	�����	�. 



+��	�
� 0 $	
� 10 	 11 (START_CLKHS ) ������
�!
 ��
!(��	� ������
��� �. 
��
��. ��
	 
	���
����
�� 
�
��� �. 
��
	�����	� – $	
� ��
����
	��!
�� � 1 (���������� ��
!(���). ��
	 �
� 
6�����		 
��� ��
��$
��	� 	���
���!
�� �$� ������
���, $	
� ��
��� $�
� ��
����
��� � 2 �
� 
�����	(������ ������
��� 	 � 3  �
� ����'�����. +��	�
� 0, ,	
� 12 	 13 (ClkHSDiv) ������
�!
 
��60 0 	'	��
 ��
��	� ����
�	
�
����� ���
������� ��
	
�
� �
� ������� (��
�
� (1,2 	
	 4). 
%�60 0 	'	��
 ��
��	� �
	��
 ��: 
 

�	�	��
���� 	��������� 	�
����
 ������	: tmin = 2· Tref· 2ClkHSDiv; 
	 
����	��
���� 	�
����
 ������	 tmax = 214 Tref· 2ClkHSDiv 

 
���$���	�� ����
���	� ��
��	� 2· Tref· 2ClkHSDiv <1,8 ���, 	��(� ��	 ��
	$����� ���	�����
 
������
���	� ALU 	 � �������� ���	�
� $���
 ���	��� ����
�
�
 0xFFFFFFFF. 
 
c. � ���	�
�� 0 $	
� � 8 �� 10 (HITIN1) ��
����	
� ��
	(��
�� ��$�
	�, ��
���� ��
��� ���
� TDC-
GP2. ����	��
���� ��
	(��
�� – 3 ��$�
	� � ����
� 1. .	�
� HITIN1 ������ ��
��� $�
� �� 1 
$�
�#�, (�� ��
	(��
�� ��	������ ��$�
	�. ��	(	�� ���
�	
 � 
��, (
� �	���
 �
��
� 
���� 
�(	
��
�� ��$�
	��. TDC-GP2 $���
 ������	
� 	������	� �� ����#��	� ���� ��$�
	� 	
	 �� 
	�
�(��	� ������	 
�����
�. ,	
� � 11 �� 13 (HITIN2) � ���	�
�� 0 ��
��� $�
� ��
����
��� � 0. 
 
��	���: 
1�	��!
�� 2 	���
��� ��
�����: 
HITIN1 = 3, HITIN2 = 0 
 
d. ��$�� ��
	$����	. 
%�
	$����� ��
!(��
�� ��
������� � ���	�
�� 0 $	
� 5 (Calibrate) � 1. ��	 ��
	$����� TDC 
	������
 1 	 2 
��
� ������� (��
�
�. =
	 ������ �������!
�� ��� Cal1 	 Cal2. 
��
� ��� �����$� 	����	
� ������ ��
	$����	 Cal1 	 Cal2: 
- �
��
���� ��
	$�����, �� ����
�� ���� �����'		 Start_Cal_TDC (���� SPI 	�
��0 ���; 
- ��
���
	(����� �$���
��	�, ���
� ��
�����	 � ���	�
�� 0 $	
 4 (EnAuto-Cal) ������ 1. � 
$�
�#	��
�� ��	
����	� 
���� �����$ ������(
	
�
����. 
 
e. 1�����
	
� �$��$�
�� ������ � ALU. 
� 
� ����� ��� ����
� 	������	� TDC ����
 	����	
� �� 3� ��$�
	�, ALU ����
 �$��$�
�
� 
�
��� 
���� ��$�
	�. ������
�� ���
����	 ��
��� � ���	�
�� 1, ,	
� 16 - 19 	 20 � 23, HIT1 	 HIT2. /���
�� 
5
��
� ���
����� �$��$�
�� ����$�� 	���
��� 1�
�����	 	�-�� ���'	�
����� ��
��� 	������	� 
� �	������� 	������	� 2. 
 
Reg1 = 0x21xxxx > 1�� Stop Ch1 – Start 
Reg1 = 0x31xxxx > 2 �� Stop Ch1 – Start 
Reg1 = 0x41xxxx > 3 	� Stop Ch1 – Start 
 
ALU ��(	�
��
 	�
����
 ������	 ���: 
 
RES_X = CoarseCount + (HIT1 HIT2) / (Cal2 – Cal1) 
 
����� = RES_X· Tref· 2ClkHSDiv 
 
f. ��$��
� ������! (���
�	
�
����
�. 
� ���	�
�� 2 $	
��	 19 	 20 (RFEDGE1 	 RFEDGE2) ��
�����
�
� ����
 ��$��
� ��$�(	� ������� 
�	���
�. ��	 RFEDGE = 0 ����'	� $���
 �� ��	� 	� ��������� (	� 0 � 1 	
	 	� 1 � 0), ��	 RFEDGE = 1 
����'	� $���
 �� �$� ��������. ��
������� $	
�� 0 – 2 � ���	�
�� 0 ��
�����
�
� ����
 ��$��	
� 
���
����	� 	����
�� � ������� 	� ������ Start 	 Stop1. ��	 RFEDGE = 0 6
� ����(��
 ����� 
�����
�!"��� �������� �	���
� (NEG_X = 0) �� �����!"	� (NEG_X = 1). 
 
g. 1�����
	
� �������	� ��������	�. 
����� 8 INTN (��������	�) ����
 	��
� ���
	(��� 	�
�(�	�	. 1�	 ��$	��!
�� � ���	�
�� 2, $	
� 
21 – 23 (EN_INT). 
 

EN_INT  = 0 – ��
 	�
�(�	��� ��������	�. 
 = 1 – ��
�����
� ALU. 
 = 2 – ���
��	
� �������� ��
	(��
�� ��$�
	�. 
 = 4 – 
�����
 ����
� 	������	� TDC. 

 



+��
	(��� ���	��
� �$<��	���	� �� /:/ �������!
 $�
�#� ������ 	�
�(�	�� ��������	�. 
 
��
� 	 ����	� ���	��
� ���0 	����'		, ��
���� $���
 ��	���� �	��. ���
� ���0 	����'		 
��
�����
�
� ��
��� 	�	'	�
	�	����
� TDC-GP2, ����
�� (���� SPI ��� �����'		 Init, (
�$� TDC 
��(�
 �����	�	��
� �������� �� ������� Start 	 Stop. 
 
4.1.2. ���������. 
 
���
� 	�	'	�
	��'		, ��(	��� � ������� 	���
��� �� ����� Start, TDC ��(��
 	������	� 	 $���
 
��$�
�
�, ����: 
- �� �$��$�
��
 �������� ��
	(��
�� ��$�
	� (����	��� 3 ��$�
	�); 
- �� 	�
�(�
 ����� ��	���	�. )
	
�
����
� 
�����
� ����
 $�
� ����������	������ $	
��	 19 	 
20 (SEL_TIMO_MR2) � ���	�
�� 3 � ����	
�
�� ���	��� ������� (��
�
�. ��	 ������� (��
�
� 4 �&' 
	 ClkHSDiv = 0: 

SEL_TIMO_MR2 = 0 28· Tref· 2ClkHSDiv = 64 ���; 
   = 1 210· Tref· 2ClkHSDiv = 256 ���; 
   = 2 212· Tref· 2ClkHSDiv = 1024 ���; 
   = 3 214· Tref· 2ClkHSDiv = 4096 ���. 
 

� ���'� 	������	� ������	 TDC 	������
 2 ���	��� 
��
� ����� �
� ��
	$����	. 
 
4.1.3. %�������� ������. 
 
� ���'� 	������	� ALU ��(	���
 �$��$�
���
� ������ � ���
��
�
�		 � ������
���	 ���
����	 
HIT1 	 HIT2 	 ������"��
 ����
�
�
 � �������� ���	�
�. ALU ������	
 ��(	�
��	� ���
���� ����
� 
4.1.1.e. 	 �������
 � �������� ���	�
� 32 $	
��� (	�
� � 0 	��	�������� 
�(���. 
�����, 
��$����� ALU �
� ��(	�
��	�, ���	�	
 �
 ��������	� �	
��	�: 
 
,��
. 1. ����� ������ ALU. 
 

��������	� �	
��	� 5 ��
	$������ 
3,3 � 1,8 ��� 
2,5 � 2,5 ��� 
2,0 � 4,6 ��� 

 
%�� 
�
��� ������ ���
���� � �������� ���	�
��, ��
����
	���
�� 0 
�� ��������	� (��������	� 
�
 ALU �����#���, ��. ���	�
� 2, $	
 EN_INT). )�
�� �����
�
� �������	 ��������� ���	�
�� 
���
	(	���
�� �� 1 	 ��������
 �� �
���!"�� ���$����� ���
� � ����
	. .	�
� �����
�
� �������	 
����
 $�
� �(	
��� 	� ���	�
�� ���
���	�, $	
� � 0 �� 2. 
 
4.1.4. #����� ������. 
 
��
�����
�
� ����
 �(	
�
� ������, ���
�� ��� �����'		 10110ADR. -� �
���!"	� 32 
��
� �� 
#	�� SPI TDC-GP2 �����
 ����
�
�
, ��(	��� �� �
��#��� $	
�. 
32 $	
��� (	�
� � 0 	��	�������� 
�(��� � ����
���		 �� 2 �����
��
��
 	�
����
 ������	 � 
����	
�
�� ���	��� 
��
���� (��
�
�. 
 
����� = RES_X· Tref· 2ClkHSDiv 
 
ALU �����
��
 �����
��
�
��� �$��$�
�
� 
�
��� ���� ��$�
	�. � �
�(��, ��
	 $�
� 	������� 
$�
�#� ������ ��$�
	�, ���$���	�� ���	��
� ����� ������� � HIT1/HIT2, (
�$� ���$"	
� ALU � 
���$���	���
	 �$��$�
�
� 	 ����	� ��$�
	�. ���
� ���	�	 HIT1/HIT2 ���$���	�� �����
� 
�	�	��� 4,6 ��� (��
	$�������� ������) 	
	 580 �� (����
	$�������� ������) ����� (
��	�� 
	
	 ����� ���	��!  HIT1/HIT2. 
 
��	��� ���0 	���	�����	�: 
 
... 
�

��� reg1 = 0x210400 //3 ������� 	 �
�
�� 1, 	�������� 	���� Hit1 - Start 
... 
�����
���
��� 
... 


��
 (
��	���
 � �
�
 
����	
���) 
�

��� reg1 = 0x310400 // 	�������� 	���� Hit2 - Start 



����
��� (4,6 ���) 
�

��� reg 1= 0x410400 // 	�������� 	���� Hit3 - Start 
����
��� (4,6 ���) 
��
��� 	�� �
���� �����
�� 	 �������
� � 0 
� 2. 
��
����� ��
�
���� �
������ - 3. 
 
� ���'� TDC ��
��� $�
� ����� 	�	'	�
	�	������, (
�$� �����
��	
��� � �
���!"��� 
	������	!. =
� ��
��
�� ����
��� ���� �����'		 Init. 
 
4.2. ������������ ���������. 
 
TDC-GP2 ����
 ��
����	
� ��������� ���� ����	�����	� �
� ������� 	� 3 ��$�
	� �� ����� 
Stop1, �� ����� ��
���� �	���	� ��$�
	� �� �����	�	��!
��. ������� ����	�����	� 
�
�(	
���!
�� �
 �����
� ��	���� 	���
��� �
��
� 	 	��!
 �����#���
� ��
�����	 ����� 10 ��. 
���
����	� ����
� �����#��	� «Stop enable» ������ � ���#�	�	 �������	 EN_Stop1, EN_Stop2 �� 

��	(������ «/». ��6
��� �� ���#�	� ������ ��
��� $�
� ������ 1, (
�$� 	���
�����
� 
���
����	� ����
� ����	�����	�. ������
�� ���0 	����'		 ����!
�� � ���	�
��� �� 2 �� 4 
(DELVAL1, DELVAL2 	 DELVAL3): 

• DELVAL1 –  DELVAL3 ��
����
��� (	�
� � 0 	��	�������� 
�(���. =
	 (	�
� (14 $	
�� – '�
�� 
(��
�, 5 $	
�� – ���$��� (��
�) ��������!
 ����� ����	�����	� � ����	
�
�� ���	��� 
���
������ 
��
���� (��
�
�:  

• Delaymin = DELVAL�· Tref· ClkDivHS 
 

• �	�	��
���� �
	
�
����
� ����	 - 3 
��
�. 
• )
	
�
����
� ����� ��
��� 	��
� ������
�!"	� �������. ��
	(	�� ������ �
���!"�� 

����	 ��
��� $�
� �� 3 
��
� $�
�#� (�� �������"��. 
�� 	���
������� ���	�
�� ����	�����	� ��
��� $�
� ��
����
��� � 0. %���� ��� ���	�
�� 
DELVAL� ��
����
��� � 0, ����
� ����	�����	� ��
���
�! �
�
!(��. 
 
��	���: 
 
�
���
� �
����
 4 !�, ClkHSDiv = 1 
DELVAL1 = 0x3200 " 400· Tref  1�# Stop ����� 	��
����� �� �
��� 200 ��� 
���� Start 
DELVAL2 = 0x3300 " 408· Tref  2�# Stop ����� 	��
����� �� �
��� 204 ��� 
���� Start 
DELVAL3 = 0x3400 " 410· Tref  3�# Stop ����� 	��
����� �� �
��� 208 ��� 
���� Start 
 
5. 
���������� � ���1��
����  ���1��. 
 
5.1 2��������. 
 
TDC-GP2 	���
����
 2 
��
���� ������
��� � ���	�	���
	 �
 ���	�� ��$�
�: 
������(��
�
��� 
��
� �
� ��
	$����	 	 ��� 	�
�(�	� �	���
� �
� ������
	
�
� 	����	
�
����� 
����
� � �	������� 	������	� 2; 
���
���� �	���
 32,768 %&', 	���
������� �
� ���
����	� 0 ���'	�. 
 
1.1. ��������������! .��������. 
 
� �������� �. 
��
� 2 - 8 �&' ����� �
� ��
	$����	. � �	������� 	������	� 2 �. 
��
� ����� 	  �
� 
����
� 	������	� ������	. 

 
���. 13. 



 
�����
��� 6
�
 ������
�� ���$���	� 
�
��� �
� 	������	� ������	, � TDC-GP2 ��
����� 
���������
� ��� ��
!(��	�� 	 �
�
!(��	��. �. 
��
	�����	� ����
 ��
!(�
��� ��
���
	(���	 � 
����(�� ������� INIT. ���$���	�� ����	
� � ������	 ��
����
��	� ������
��� 	 ��
!(�
� 

��$����! �������� �� ��(�
� 	������	�.  ������
�� ������� �. ������
��� ����!
�� � 
���	�
�� 0 $	
��	 10 	 11 (START_CLKHS): 
 

START_CLKHS = 0 ������
�� ���
!(��; 
           = 1 ������
�� ��
!(��; 
           = 2 	������	� ��(��
�� � ��������� 640 ���. 
           = 3 
� 	������	� ��(��
�� � ��������� 1280 ���. 
 

-������� 	������	� �����
	���
, (
� ������
�� �����
 �� ��
����	�#���� ���	� �� ��(�
� 
	������	�. )
� �����	(���	� ������
���� ���
�
�(�� �������	 640 ���. ��	 	� 	���
������		 
���(	
�
��� �����#��
�� �����	� ��
��$
����� 
��. 
 
%������� �������� �� �������� �3���� � �����
� 7 ��� ����
�������� Start_CLKHS � ����1���� 
�����������. 
 
��	���: 
 
$ �����
�	���	��  �
��������� 
�� �����  ��������� 	 ������� $% �����
��� 
���	�� 

������������� 2 ��. &�����# 
����������# ��� ' 260 ��(· 2 �� = 0,52 ��(. 
 
5.1.2. 2�������� 32 $21. 
 
TDC-GP2 ������
�� � ������� (��
�
� 32,768 %&' �
� �����
��	� �������� �. ������
��� 	 
��
	$����	. � �	�������� ��
���� ������� ������
��� 32 %&'. 
 

 
���. 14. 

 
&�����
�� �� 32 %&' ��$�
��
 ���
����� 	 ��
��$
��
 ; 4,5 ��� ��	 3,6 �. ����� ����� ����
� 
���#�	� ��������
���� �	���
 �� ����� CLK32Out (� ����	��
���� ���
	
���� 3,6 �). 
=
�
 �	���
 ����
 $�
� ������	����� ���#�	� �	������'�������. ����� ������ �����#	
 
��
��$
��	� 
��� �� 1,2 ���. �� 6
�� ��	(	�� ���
����	� ������
�� �� 32 %&' TDC-GP2 ��
��� 
	���
�����
���, 
�
��� ��
	 �����
���� ���#�	� 
��
� �� 32 %&'. ����� ��
����
��	� ������
��� 
�� 32 %&' ; 2 �. 
��
 ����� � 
��
�� 32 %&', ��
	 ���
����� ��$�
��
 �. ������
�� (START_CLKSHS = 1) 	 �� 
	���
����
�� ��� ��
	$����� (� �
�(�� 	���
������	� ����'����� ������
���). 
���#�	� 6
����
� ���$���	��, 
�
��� ��
	 	���
����
�� ������
�� �� 32 %&'. /��(� ����� 
CLK32In ��
��� $�
� ������ � ���
��. 
 
5.1.3. $�
������� �����������.� ��������!����)0 �.� ����������. 
 
/���
������	� �����	(������ ������
��� �� 2 – 8 �&4 ��	�
����
 �	���� '���� 	 ����
�	� 
�������� ��
����
��	�. % ����
��	!, ��	 	��!
 �
���! 
�(���
� 0,3 – 0,5 % 	 �����	� 

������
����� ����0 . TDC-GP2 �����
��
 ����
�	
� ��
	$����� �����	(������ ������
��� 	 
��������	����
� 6
	 �����
�
�	. 
%�
	$����� �������� �� ���'	�	����� 
��
�� 32,768 %&'. /� (��
�
� 32,768 �&' TDC-GP2 �����	���
 
	���
��� �
��
/�
�� 	 	������
 6
�
 	�
����
 ������	. +���
�
�
 ��������
�� � ���	�
�� 



����
�
�
�, ��
����
	���
�� 0 
�� ��������	�. 1#	$�� (��
�
� �����	(������ ������
��� ����
 
$�
� ����(	
��� �	������'�������. 
������
�� ��
	$����	 ����!
�� � ���	�
�� 0 (CALRES# ), ��(	���
�� ��
	$����� �� ������� �
 
�	������'������ START_Cal_Resonator. /�
����
 ������	, �� ��
���� $���
 ������	
��� 
��
	$�����, ��
����
	���
�� CALRES#  � ��
	(��
�� ���	���� (��
�
� 32,768kHz: 
 

CALRES#   = 0  2 ���	��� = 61,035 ���; 
     = 1  4 ���	��� = 122,07 ���; 
     = 2  8 ���	���� = 244,14 ���; 
     = 3  16 ���	���� = 488,281 ���. 

 
+���
�
�
� ��
	$����	 ���
�� ���	��� �. ������
��� (�����
������ �� 1, 2 	
	 4 (DIV_CLKHS)), 
�����
��
��� 32 $	
��� (	�
�� � 0 	��	�������� 
�(���. 16 $	
�� –  '�
�� (��
�, 16 $	
��  –  
���$���. 
 
����� = RES_3· TTHSCLK· 2DIV_CLKHS 
 
�	������
��

�� ����
 �����	
� 6
� 	��������! ��
	(	�� � 
����
	(����� ��
	(	��� 	 
��(	�
	
� �������� RES_X/REStheor. 
 
��	���: 
 
&�����
 �
���
�� � ���
��������  �����
�����  �
 4  !�. )��� DIV_CLKHS = 0 � CALRES#  = 1 
������������# �������
� – 122,0703125 ��� / 250 �� = 488,28125 (RES_0 = 0x01E84800). )��� �
����
 
���
��������� �����
���
 �� 4MHz, 
 3,98MHz, ��������� 
�� �
�����	�� �
�� �������
� 
485,83984375 (RES_0 = 1E5D700). *�
�
	�
 ��� ���������������
 – 1,005. 
 
5.1.4. $�� ����
������� ��
������� ������. 
 
a. 
���������. 
 
=
� ��'	� ���$���� ���$���	�� �
� �
�
���������� ������������ 	 
��
��(�
(	���. � 6
	� 
��	
����	�� 	���
������	� �����	(���	� ������
���� 	���
 ��� �������� ���	��"��
��: 
��	���	� �
�	���
	 	 ����#�� ��
��$
��	� 
���. &
����� �$����� 	�-�� ����
���� ������	 
��
����
��	� �����	(������ ������
��� ��
��$
����� 
�� ����
 $�
� ��	��� �� �����
��	� 
���. 5
����	
�� ��������� ��$�
� �� ���
����		 10 
�
 �
 $�
���	 �����
�! 100 ��( $�� 
����#��	� �����#�!"�� �����$���
	 ��	$���. 
 
b. �+����� ������� 32 $21 � �.� ���
�������. 
 
&�����
�� �� 32 %&' �(��� 
�(�� (�#	$�� � (��
�
� �����
��� ppm). 1����� 0 ������ ��	

�� 
���
��
��
 ; 3 – 5 �� (�	�-�	�). 5
�����
�
���, ��
	$����� (Start_Cal_Resonator) 	���
 
� �� 
��
	(	�� �#	$�	. ��	 �������		 ����
�
�
� 	������	� �� ����
�
�
 ��
	$����	, 0 
��
��'	� 
��
	$����	 �������
�� � ����
�
�
 	������	� ������	 (��. CALRES# ) � ������'		 ����� 
��
	$����	 / ����� 	������	�. /���
������	� ���
����� 	�����!"���� ��
	(	�� ��
	$����	 
��$��	
 ���(	
�
���� ���$��� � ����
�
�
 	������	�. 
 
c. 
��������� 4��! ��1�� � �
������������ ������������. 
 
/������	� ������� �	����
	 �������� �� ���� �
��
���� 	������	�� ������	 ���
�
� �- 
�	���
�, �� ��
��� 	 ���
	� ��
��� �	����
	. +���	'� ����� ����� 	������	��	 ���	�	
 �
 
������
	 ��
���. )
� ��
�����	� �
	��	� ��	

��� ��
	$����	, ���$���	�� 	���
�����
� ���� 	 
� 
�� ��
	$����� �
� �$�	� 	������	�. ����� ������
� ���� 	������	� $���
 ���$���� �
 
0 
��
��'		 
��
���� (��
�
�. ���
���! (��
�
� ����� ��
	$����
� 
�
��� ����� 	������	��	, 
��
���� �� ������� ���������
����� ���� � ������. 
 
5.2. 2�������� Fire-pulse. 
 
5.2.1. %�0 �� ��������. 
 
&�����
�� Fire-pulse �����	���
 ���
�����
�
����
� 	���
����, � ��
���� ���������� ����� 
	�����
� (��
�
�, 0 ��� 	 ��
	(��
�� 	���
����. -� ������ $���
�� (��
�
� �. ������
���, 
�����
����� �� ��60 0 	'	��
, ��$������ ClkHSDiv. =
� (��
�
� ���(�
� ����	���
��, � ��
�� 
����
 $�
� �����
��� �� ��60 0 	'	��
 �
  2 �� 15. ����� ������	����
� �
 1 �� 15 	���
����. 



)
� ������� 	���
��� � ���	�
�� ���0 	����'		 ����
 $�
� �������
	������ 0 ���. &�����
�� 
Fire-pulse ��
	�	�	���
��, ����
��� ���� �����'		 Start_Cycle. 
&�����
�� 	���
��� ���� 	���
 2 ������ Fire1 	 Fire2. �������(��� �����$���
� ������� ������ – 
48 �� ��	 5 �. =
	 2 ������ ����
 $�
� �$<��	����, 
�� �������	 �����
�
 �� 96 ��. %���� 
���, 

!$�� 	� �������� �	���
�� ����
 $�
� 	����
	�����, (
�$� ����	
� ���
	
��� �	���
�. %����� 
	� ������� ����
 $�
� 	��	�	���
��� ��
����
�� � 
��
�� ���
���	�. 
Fire-pulse ������
�� �����
��
 �����	����
� 	 ����
�
� �����
��� ���
�����
�
����
�� 
	���
����, 	���
���� ��
�� ����	 «sing around». )
� 	���
������	� 6
�� ���$�����
	 
���
�����
�
����
� �������� 	���
���� �����
�� �� ���� TDC-GP2 Fire_In, ��	
	���
�� 	 
�
����
��
�� ���������
����� � �������� $�0 �� �
� �����
������ 	�
�(��	� $�� ��
��#�� 

��
���� �������	. 
TDC-GP2 ����
����
 0 ���'	! Phase-Noise, ��
���� ���"��
��
 
��
 ��
	$����	 �
 Fire-pulse 
������
��� 	���
���. ��6
��� � 0 ��� Fire-pulse 	���
��� ���������� ��$��
��
�� #��, �� 
���"��
 	���
��� �
���	
�
��� ���
����	� ������� 
��
��. =
� ���$���	��, (
�$� �����
	
� 
��
����#�! �
�
	�
	�� (��������	�) ����
�
�
�� 	������	�. *���'	� Phase-Noise �� ����#��
 

�(���
� ����
�
�
� 	������	�. 
 
5.2.2. $�� �.���1��. 
 
$�
������� ����
����. 
FIRE#  = 0 ������
�� fire-pulse ���
!(��;  
          = 1 1 	���
��; 
          = 2 2 	���
���; 
…                      … 
          = 15 15 	���
����. 
 
/���. 
*��� ������� 	���
��� ����
 $�
� ������
��� � ���	�
�� 5 $	
� � 0 �� 15 (PHFIRE). 0 �����
 
�����
�!"	� �������, 1 - �����!"	�. ���
�����
�
����
� 	���
���� ��(	���
�� � �
��#��� 
$	
�, �����(	���
�� �
��#	�. 
 
��	���: 
 
Fire#  = 7, PHASE_FIRE = 0xE 

 
 
 

+��	�
� 5, ,	
 19 (DIS_PHASESHIFT) ��
	�	���
 ���	� 0 ���: 
DIS_PHASESHIFT = 0  ���	� 0 ��� ��
!(��; 
DIS_PHASESHIFT = 1  ���	� 0 ��� ���
!(��. 

 
#������ �
�������� ����
���� fire-pulse: 
 

 
 

.��
�
� ������� 
��
�� ���
����� ����	���
�� 	 ��
	
�� �� DIV_FIRE: 
DIV_FIRE = 0  �����"���; 

   = 1  ��
	
�� �� 2; 
   = 2  ��
	
�� �� 3; 

...   ... 



   = 15  ��
	
�� �� 16; 

 
 
ffireclk2 = 2 f fireclk1 / (DIV_FIRE + 1). 
 
.��
�
� f fireclk1 	���
����
�� ��� ������� �
� 0 ���	�����	� �	���
�� �� ������� FIRE 1 	 FIRE 2. 
 
%������� ��������: �
� ����.� ����
��� Fire Pulse ��+�� 2 ������� ������! �������. %��� �
� 
 ��� 1, ���� �
�  ��� 0. 
 
��	���: 
 
CLKHS = 4  !�, CLKHS_DIV = 1, DIV_FIRE = 1 
ffireclk2 = 2 f fireclk1 / (DIV_FIRE + 1) 
%
����
 ����
��	 �
 	����
� FIRE 1 � FIRE 2: 
fFIRE1/FIRE2 = ffireclk2 / 2 = 2  !� 
 
������ ���!����: 
�������� �������� ���0 	���	��!
�� � ���	�
�� 5 $	
��	 � 21 �� 23 (CONF_FIRE): 
,	
 23 = 1  	�����	� ������ FIRE 2; 
,	
 22 = 1  FIRE 2 �
�
!(�� (3� ���
���	�); 
,	
 21 = 1  FIRE 1 �
�
!(�� (3� ���
���	�). 
 
���
����	� ��(�	 	���
���� (����	 "singaround") ���0 	���	���
�� � ���	�
�� 5 $	
��	 � 16 �� 18 
(REPEAT_FIRE): 
REPEAT_FIRE = 0 ��
 ���
����; 

         = 1 1 ���
��; 
...   ... 

         = 7 7 ���
����. 
 

,���
 ���
����� 
�
��� ��
	(��
�� 	���
����, �������� FIRE# . ��	 �
��
�
�		 	���
���� �� ����� 
��
�#� 5 ���, TDC-GP2 �$�����	���
 ����' 	���
����� ���
�����
�
����
	. 
 
%������� ��������: ����.� �����������, ����� ��
������� � ���.� ����� 7� �������� �� 
�������
� �������� ��������� GP2!!! 
 
5.3. ��������� �����������. 
 
5��'	�
��� �
� ��	�����	� � 
��
��(�
(	��� � TDC-GP2 ��
���� ����
� PicoStrain, 	�����!"	� 

������
��� � �����	� �����#��	�� 	 �(��� �	��	� ��
��$
��	�� 
���. /������	� �������� 
�� 	������		 ������ ������� ��������
��� ���(������ (���� ���	�
��� ��
(	��� 	 ������� 
���	�
���. 
 
 
 



 
 

���.15. 
 
����
� 	���
 4 ���	�
����� ���
� �� �
���!"	�	 0 ���'	��	: 
 
PT1 �����	� ������� ���	�
�� 
������
���; 
PT2 �����	� ���	�
�� ��
(	�� 
������
���; 
PT3 �	��	� ���	�
�� ��
(	�� 
������
���; 
PT4 �	��	� ������� ���	�
�� 
������
���. 
 

 
 

 
���. 16. 

 
�������
����� ��
(	� ��
��� 	��
� �����
	�
��	� �� ����� 500 1�. TDC-GP2 	������
 ������� 
������� RC '����. ��(���
� 	������	� 
������
��� ; 0,004 °C, (
� � �����
��� ��� 
�(#�, (�� 
���$���	�� �
� 
��
��(�
(	���. 
/������	� 
������
��� ��
���
�! ��
���
	�	������. 1�� ��������
�� ����
��� ���� �����'		 
«Start_Temp» �
 �	������
��

���. TDC-GP2 ��
��
 4 	������	� ���
�����
�
��� �
��
���. ���
� 

���, ��� 	������	� �����(�
��, ��
����
	���
�� 0 
��. )����� ���
���� � ���	�
��� � 0 �� 3. 



/� ������ RES_2/RES_1 	 RES_3/RES_4 �	������
��

�� ����
 ��(	�
	
� �
��#��	� Rtemp/Rref, 	 �� 

�$
	'� ����
 ���
	 
������
��� �
� ��������� 
	�� ��
(	��. 5 TDC-GP2 ���������� 
	���
�����
� 4� ��������� 
������
����� ��
(	�	. 
 
$�� �.���1��. 
 
+��	�
� 0 $	
 8 (Tcycle) ��
����
	���
 ����� '	�
� 	������	� 
������
���: 
 

Tcycle = 0  ����� '	�
� 128 ��� ��	 4 �&'; 
Tcycle = 1  ����� '	�
� 512 ��� ��	 4 �&'. 
 

+��	�
� 0 $	
 9 (PORT# ) ��
����
	���
 ��
	(��
�� ���
��, ��
���� $���
 	���
�����
���: 
 

PORT#  = 0  2 ���
� > 1 ��
(	� 
������
���; 
PORT#  = 1  4 ���
� > 2 ��
(	�� 
������
���. 
 

+��	�
� 0 $	
 7 (Fake# ) ��
����
	���
 ��
	(��
�� �������� 	������	� � ��(�
�. =
� ���$���	�� 
�
� ��
�����	� ����
�
�
���� 60 0 ��
�� ��	 ������ ��������
���: 
 

Fake#  = 0  2 �������� 	������	�; 
Fake#  = 1  8 �������� 	������	�. 

 
��
��� 
������
����� 	������	� �
	
�� �
� 2· (#  ���
��) + (#  0 �
�#	���)· ����� '	�
�. 
 
������������� ������
� �������������.  
 
����� ������� ��
��� ���
��
�
� ��	$
	�	
�
��� 150 ���. ��6
��� ��������
�� ��
��� 	��
� 
�
���!"�! ��
	(	��: 

�
� Pt500: 0,22 ��*; 
�
� Pt1000: 0,1 ��*. 

+���������� ��
����
	��
� Tcycle = 1, (
�$� 	�$���
� �#	$�	 
���-��
�. 
 
������������! ��� �������������. 
 
.
�$� ��
�(	
� 
�(��� ����
�
�
�, �� ����������� ��	����
� 
	�� ��������
���� � �(��� �	��	� 
���(��	�� ������
�� dC/dU. ����	���: ���	� CfCap �
 Tayo Yuden. �� 	���
����
�  
��������
��� X7R 	 	� ����$���. 
 

�����
���� ����. 
 
��	 	���
������		 TDC 
����
��		 	������	� 
������
��� ��
��$
��
 (�����(���� �	��	� 
��, 
������� ����#�, (�� �4�. 
��
��� 	������	� 
������
��� � 2 ��
(	���	 Pt1000 	 2 ������	, ��
!(�� ��� ��(	�
��	�, 
��
��$
��
 ����� 2,5 ����. ��	 ����� 	������		 
������
��� � 30 ������ (
	�	(�� �
� 

��
��(�
(	���) ������� ��
��$
��	� 
��� 0,08 ���. =
� ��	$
	�	
�
��� � 50 ��� ����#�, (�� 

��$�!
 ����	� ��#��	�. )�
(	� Pt 500 ����	���
 
�� ��
��$
��	�. 
 
%�����+���� �3����. 
 
)���
�	
�
��� 
������
����� ����
� ��������
 ����������$	� ����
�
�
��. 1� �����$�� 
�$�����	
� ����
��� �������	� 	
	 �$��� ��
(	��. � �
�(�� �#	$�	 TDC-GP2 � ���
��
�
��!"�� 
���	�
�� ����
� 	��������� ��
	(	�� �����
 ��� �#	$�	. 
 
1. %���
��� �������	�: 6��	��
��
�� �(��� ����
���� 	�
����
� ������	 < 8· Tref = 2 ��� ��	 4 
�&'. TDC-GP2 ���	#�
 � �������� ���	�
� ��� 0x0. 
2. 1$��� ��
(	��: 6��	��
��
�� �
��
�
�	! ��
�����	 	
	 �����#��	! 
���-��
�. TDC-GP2 
���	#�
 � �������� ���	�
� ��� 0xFFFFFFFF. 
 
,��
�1� 3. '��
�.���� ���������. Vio = Vcc = 3,3 �, ������ Pt1000, ����������� 0,15 �/. 
 

������
�� ��
	(	�� (
	�) ��. 	��. 
+����#�!"�� �����$���
� RMS 16 $	
 
1
��#��	� �	���
 – #�� SNR 96 �, 



�$��
!
��� �#	$�� ��	
��	� 0,1 % 
)���0  ��	
��	� �
 Vio 0,08 %/� 
)���0  ��	
��	� �
 
������
��� 0,0008 %/°5 
����
	$�������� ���"��	� < 0,01 % 
)���0  ���"��	� �
 
������
��� < 0,2 Ppm/°5 
�����
��	� �	�0 ����� �����	 > 100 �, 

 
5.4. SPI ����� �!�. 
 
���
�����
�
���� 	�
��0 ��� ������
	� � SPI �
�����
��. 1$���
�
��� ������	� �	���
 
SerialSelectNot (SSN), � 3 ��������	 	�
��0 ��� �� ����
 $�
� 	���
������. 
 

SSN – ��$���� slave;  
SCK – SPI 
��
	�����	�; 
SI – SPI ������� ������; 
SO – SPI �������� ������. 
 

TDC-GP2 �������	���
 
�
��� �
���!"	� SPI ���	�: 
 

,	
 0 ��� 
��
� =1 
,	
 ��
�����
	 
��
� =0 
 

��������� ���
��#��	� �������� �� +	�. 1 (���	��) 	 +	�. 2 ((
��	�). ����� ������ 
���
�����
�
����
�! (
��	� / ���	�	 ���$���	�� ��	���	
�
��� ��
����
	��
� 
	�	! SSN � 1 �� 
�����, (�� �� 50 ��. 
 
SSN ��� �����. 
 
:	�	� SerialSelectNot (SSN) – �$��� �
� ���
�����
�
����� 	�
��0 ���� (��
	���� ������� – 
�����	�). ���
� 
���, ��� SSN ��
����
�� � 0, ����� ��(	��
� �$���, �����	�	�� �
 ���
���	� 
	�
��0 ���� ����� �$�����. 
 
$%�&  %
��'(��. 
 

8 $	
��� ��� �����'		 
MSB………………..………………………………………LSB 1�	���	� 
1 0 0 0 0 ADR2 ADR1 ADR0 -��	�� �� ������ 
1 0 1 1 0 ADR2 ADR1 ADR0 .
��	� �� ������ 

 
0 1 1 1 0 0 0 0 Init 
0 1 0 1 0 0 0 0 Power On Reset 

 
0 0 0 0 0 0 0 1 Start_Cycle 
0 0 0 0 0 0 1 0 Start_Temp 
0 0 0 0 0 0 1 1 Start_Cal_Resonator 
0 0 0 0 0 1 0 0 Start_Cal_TDC 

 
 
������(� ��(	���
�� � MSB, �����(	���
�� LSB. ���
� ��	��� ���
������ $	
� TDC-GP2 
������"��
 ������ � '�
���� ���	�
� 	
	 ����
���
 �������. ���������� ���
�
� ���	�� � 
	�������
��. % ������� ���	�
�� ����� �$��"�
��� �
��
���. 
)
� (
��	� 	� TDC-GP2 ���$���	�� 
���� ���(�
� ���
�
� ��� �����'		. 5 ������ 
��
��	
�
���� ��������� 
��
���� (��
�
� ���
� ���� �����'		 TDC-GP2 ����
��
 MSB 	� 
���	�
��, � ��
����� �$��"�!
��, �� ����� SO. �� ������� ��
��	
�
����� �������� �� ����� 
�����
�� �
���!"	� $	
. 
 
5.5. 5������ ���1��
���1��. 
 
� �	������� 	������	� 1 TDC-GP2 	���
 ���������
� $��
��� 	�	'	�
	��'		. ��
	 � ���	�
�� 1 
$	
 15 (EN_FAST_INIT) = 1, 
� 0 
�� ��������	� ��
���
	(���	 	�	'	�
	�	���
 TDC, 	 TDC ��� ��
�� � 
�
���!"��� 	������	!, ���� �(	
���!
�� ������. =
�
 ���	� - �
� ����� ������������
��� 
��	
����	�, ��	$�
�� ������� 	���
�����
� ��� �
� ����
	$�������� 	������	� 
�
��� � ���	� 
�
����. 



 
5.6. 6�����! ����
�. 
 
� �
�(��, ��
	 ��
�����
�
� ��(�
 �
�(#	
� ����
�
�
� 	������	� � ����"�! ��������	�, 
���$���	��, (
�$� 	��������� ��
	(	�� �� $�
	 ��	�������	. )
� 6
��� ����� ��$��	
� 
������� #���, $�
�#��� �� ��
	(	��, (�� �	����
 ����
����	�. 
 ������ ����
� 	���
����
 ����������#����� ���
��
�!"	�.  ������ ����
� ��$��
��
 
�
�(����� ���"��	� � �
��
�. =
� ����#� �������
 � ��	
����	��, ��� TDC ��
�(��
 �
��
 	 
	������
 ����	'� �� ������	 ����� STOP1 	 STOP2. 
 ������ ����
� ��
!(��
�� ��
������� � ���	�
�� 5 $	
� 20 (EN_STARTNOISE) = 1. 
 
6. 
��
�+����. 
 
6.1. -
�����������! ���
��������. 
 
6.1.1. %�0 �� %�������. 
 
TDC-GP2 	���
��� ������	
 �
� ������	� ��#���� �
�
���������� 
��
��(�
(	���. ,
������� ���	� 
#	���	� 0 ���'	���
���� ���������
��, ���
�
�(�� ��$��	
� ����
�� �	������'����� ($�� 
�4�) 	 �
�
���������� 	�
�(�
�
	. .�����(���� �	���� ��
��$
��	� 
��� �����
	���
 �
	
�
���! 
��$�
� �
 $�
���	 � 
��	� ��	
����	��. 
/������	� ��
���
�! ��
���
	�	������. �	������'����� 
�
��� ����
��
 ������� �
��
�. TDC 
0 ���	���
 �- �	���
, �����
 ��� �� ����$������
�
	, 	������
 ����� ���
�
�, ��
	$���
 
����
�
�
� 	 �������
 	� � �	������'�����. 
 
 

  
 

���. 17. 
 
 
 
 
 
6.1.2. $�� �.���1��. 
 
�	����� ���0 	����'	�: 



Register 0 Register 1 Register 2 
0x378A78 0x216000 0xE03200  

��	���	� ���(. � h ��	���	� ���(. � h ��	���	� ���(. � h 
23 0 0 1 
22 0 0 1 
21 1 1 

EN_INT 
������
 

%�
-�� ��$�
	� 
ALU 1 

20 

FIRE#  3 

1 

3 HIT2 �
�� 1 

0 

2 

RFEDGE2 ���� 	
	 �����
 0 

� 

19 0 0 RFEDGE1 ���� 	
	 �����
 0 
18 1 0 0 
17 1 0 0 
16 

DIV_FIRE 3 

1 

7 HIT1 �
��
 

1 

1 

0 

0 

15 1 EN_FAST_INIT ���
 0 0 
14 

CalRes#  8 
0 s.c.  1 0 

13 0 0 1 
12 

ClkHSDiv 0 
0 

8 

0 

4 

1 

3 

11 1 
HITIN2 0 

0 0 
10 

START_CLKHS 2 
0 1 0 

9 PORT#  4 1 0 1 
8 Tcycle 150 ��� 0 

� 
HITIN1 4 

0 

4 

0 

2 

7 Fake#  2 0 n.c.  0 0 
6 SelClk ClkHS 1 n.c.  0 0 
5 Calibrate ��
. 1 n.c.  0 0 
4 DisAutoCal ���
. 0 

6 

n.c.  0 

0 

0 

0 

3 MRange2 ��
. 1 n.c.  0 0 
2 NEG_STOP2 / 0 n.c.  0 0 
1 NEG_STOP1 / 0 n.c.  0 0 
0 NEG_START / 0 

8 

 

n.c.  0 

0 

 

DELVAL1 400 

0 

0 

 
 

Register 3 Register 4 Register 5 
��������� 0x203400 0x000000  

��	���	� ���(. � h ��	���	� ���(. � h ��	���	� ���(. � h 
23 s.c.  0 s.c.  0 0 
22 s.c.  0 s.c.  0 0 
21 EN_ERR_VAL ���
 0 s.c.  1 

CONF_FIRE  
0 

20 0 

0 

s.c.  0 

2 

EN_STARTNOISE ���
 0 

0 

19 
SEL_TIMO_MB2 

1024 
��� 1 s.c.  0 DIS_Phasenoise ��
 0 

18 0 0 0 
17 0 0 0 
16 0 

8 

0 

0 
REPEAT_Fire 0 

0 

0 

15 0 0 0 
14 0 0 0 
13 1 1 0 
12 1 

3 

1 

3 

0 

0 

11 0 0 0 
10 0 1 0 
9 1 0 0 
8 1 

3 

0 

4 

0 

0 

7 0 0 0 
6 0 0 0 
5 0 0 0 
4 0 

0 

0 

0 

0 

0 

3 0 0 0 
2 0 0 0 
1 0 0 0 
0 

DELVAL2 408 

0 

0 

 

DELVAL3 416 

0 

0 

 

PHASE_FIRE  

0 

0 

 
• +���'	� ���� ������ ��
����
��� �� �����
�!"	� ��������. 
• /���
����
�� �	������ 	������	� 2 � ��
���
	$������. 
• �������
����� 	������	� 	���
����
 ������������
��� 
��
 � �������� '	�
� 128 ��� 	 

2 ��������	 	������	��	 �� 4 ���
�� (2 ��
(	�� – �
� ��
����� 	 ����(�� ����). 
• �. ������
�� ��
!(�� 
�
��� �
� 	������	� ������	 � ��������� 640 ���. 
• �. ������
�� �� 4 �&' 	���
����
�� $�� ��
	
�
�. 
• %�
	$����� �. ������
��� �������� �� 8 ���	���� 
��
���� (��
�
� 32,768 �&' (244,14 ���). 
• )
� ������'		 fire-pulse 4 �&' ���
����� ����	��!
�� 	 ��
�
�� �� 4 (�- ��
(	�	 �� 1 �&'). 

&�����
�� ����
��
 3 	���
���. 
• ������ �
�� ��	�	���
�� (���� 50 ���, �
���� (���� 51 ���, 
��
	� (���� 52 ���. 
• TDC ����0 	���	�����, (
�$� 	����	
� 3 ��$�
	� �� ����� STOP1. 
• ALU ��(	�
��
 ���(�
� ����� Hit1 - Start. 
• ��� ���	��
� ��������	� ��
	�	�	������, 
���-��
 1024 ���. 
• 5��"��	� 0 ��� ��
	���. 

 



6.1.3. ���'��� 	������	�. 
 
5$��� �� �	
��	!: 

���
�
� 0x50 
 
%��0 	����'	�: 

���	��
� 0x80378A68 
���	��
� 0x81216000 
���	��
� 0x82E03200 
���	��
� 0x83083300 
���	��
� 0x84203400 

 
%�
	$����� ������� (��
�
�: 

���	��
� 0x03 Start_Cal_Resonator 
4	�
 �������	 INTN = 0? 

���	��
� = 0xB0, �(	
�
� RES_0 
%�60 0 	'	��
 ������'		 = 488,28125/RES_0 
 
4	�
 	������	�. 
/������	� 
������
��� ������ 30 ������. 
 

���	��
� 0x02 Start_Temp 
'	�
 �������	 INTN = 0? 

���	��
� 0xB4, �(	
�
� STAT 
STAT & 0x1E00 > 0: -> ������������ �$��$�
�	 �#	$�� 

���	��
� 0xB0, �(	
�
� RES_0 
���	��
� 0xB1, �(	
�
� RES_1 
���	��
� 0xB2, �(	
�
� RES_2 
���	��
� 0xB3, �(	
�
� RES_3 

Rhot/Rref = RES_0/RES_1 
Rcold/Rref = RES_3/RES_2 
�� 
�$
	'� ��
�(	
� ���(��	� 
������
���. 
 
/������	� ������	 ���
�
� ������ ��
�������. 
 

���	��
� 0x70, 	�	'	�
	��'	� TDC 
���	��
� 0x01 Start_Cycle, ��������
 fire-pulse ������
��. 

'	�
 �������	 INTN = 0? 
���	��
� 0xB4, �(	
�
� STAT 

STAT & 0x0600 > 0: -> ������������ �$��$�
�	 �#	$�� 
���	��
� = 0x81315800, ��(	�
��	� HIT2 - Start 

��	���	� 4,6 ��� (����� ��$�
� ALU) 
���	��
� = 0x81415800, ��(	�
�!
 HIT3 - Start  

��	���	� 4,6 ��� (����� ��$�
� ALU) 
���	��
� = 0xB0, �(	
�
� RES_0 
���	��
� = 0xB1, �(	
�
� RES_1 
���	��
� = 0xB2, �(	
�
� RES_2 

 
������ �	������
��

�� ����
 ��(�
� �$��$�
�� ������ 	 ��(	�
	
� ������ 	 
��
�
�. 
 
6.1.4. 
�����
���� ����. 
 
a. /������	� ������	. 
32,768 %&' �����
�� �
  �	������
��

��� < 1,3 ��� 
4 �&4  0 ���
!(���, 270 ���, ����� ��
	��� 
TDC <150 �� ��	 �� ��
	����, 15 �� ��	 ��
	���� 	����	
�
���� ����
�. ��	 23 

	������	�� � �������, ������� ��
��$
��	� < 3 ���. 
 
b. /������	� 
������
���. 
��
��� 	������	� �� ���� (�
���� ���
�� 
��$��
 ����� 2,5 ���� 
���. 1$�(�� 
������
��� 
	������
�� ��� � 30 ������. 5����	� 
�� ; 0,085 ���. 
 
c. 5
�
	(���	� 
��. 
,
������� ��
	�	�	�������� 0,35 �	������� 
����
��		, �
�
	(���	� 
�� ����� 150 �� (
	�). 



 
d. ��
��� 
�� ��
��$
��	� �	�
���. 
 
��
��� 
�� ��
��$
��	� �
� 	�����!"��� ����
� (TDC, ���
������ '��	, ����$������
�
	) $���
 
���	��
� �
 ���
������ (��
	. �� 
�� ��
��$
��	� $���
 � �	������� 4 – 6 ���. ��	 	���
������		 
�	������
��

��� � �	��	� 6�������
��$
��	�� (����	���. MSP430) �����	� 
�� ��
��$
��	� 
��
����
�� ����
 $�
� � �	������� 11 – 16 ���. 
����� � 
�(��	� 10 
�
 	���
�����
� 
	
	�
	��	
�
��	���! $�
������ $�� �� ������. ��	 
������	 ��$�
� 6 
�
 ����� ��$�
�
� � ��#����	 $�
�������	 �� 3 �, 
	�� CR2450. 
 
7.0. 7���0 ���� �� �3�����. 
 
7.1. %3���� ������� �������
���� ����1���.� ����������: 
 
��	 	���
������		 ����'����� ������
��� �
� �. ������
��� ����� ������� – ������� 3 �� ���� 
� ��
	�	�	�������� ������. TDC-GP2 ��	 ��$�
� �. 
��
�� �
 �$����(	���
 �������	 640 	
	 
1280 ���. )
� ����'����� ������
��� 6
� �������� �
	#��� ����
�� 	 ��	����
 � �$�!. 
 
$�����1��: 
��
� �����
��� ���	��
�� ������'		. 
 
1. 2�������� ��������� ��
)���. 
 
���������
� ���
!(��	� �. ������
��� 	���
����
�� 
�
��� �
� ��	���	� ��
��$
������ 
���. 
=
�
 ������
�� ��
��$
��
 ��	$
	�	
�
��� 270 ���. ��
	 � 6�����		 
��� ��
��$
��	� ��
 
���$���	���
	, �� ����������� �� ���
!(�
� �. ������
�� (START_CLKHS=1). 
 
2. $����������! ���������. 
 
5 �����	(���	� ������
���� ����� ������� – ��	$
	�	
�
��� 200 ���. ���$
��� � TDC-GP2 �� 
����	���
. �� ����������� 	���
������	� �����	(���	� ������
��� �� ���� ��	
����	��, 
	���
���!"	� 	������	� ���
��#��	� (
	�� �- ������������). 
 
�� ���� ��	
����	��, ��
���� �����!
�� � ����'���� ������
��� � ��� �
�
!(��	��, �� 
����������� �
���!"	� ����: 
 
3. 7��+���� �������! ������� �� ������ CLK32In. 
 
���
	�����	� � $�
�� �	���� (��
�
�� ���
	(	���
 ���
����	� �������	 
������. � 6
�� �
�(�� 
�� ����������� (��
�
� ; 4 %&'. ����� ����� 
������ �������	 ���
	(	���
�� �� 10 ��. =
��� 
���
�� ���
�
�(�� �
� ������� ����'����� ������
���. 
 
4. 
��.������! Start/Stop .���������. 
 
-��	�� 1 	
	 0 � Start_CLKHS ��������
 	
	 ��
����
	���
 ������
�� ����������. 
�	������
��

�� ����
 ��
!(	
� ������
�� 6
�� �������� 	 ��
��, (���� 10 ��, ���
�
� ��� 
�����'		 	������	� START_CYCLE. � ���'� 	������	� �	������
��

�� ��
��� ���
!(	
� 
������
��. 
 


